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3TE. U, Tw. (Wifersm) wdar, 2011
HHT e+

TR G99-UF T &

(STEATIAR TAYeTTuT Wiger saEa)

YT Sfeerd/Ancient History

F=rg 4T (Indus Civilization)

1. Regarding the Indus Valley Civilization, consider
the following statements:

fag ot Ty & wed # fAfaiad waA W
ferem = -

1. It was predominantly a secular civilization, and
the religious element, though present, did not

dominate the scene.
I’ IHE: e off q9 I9H Hifie dw@,

Zafy Ul o1, Teasmel Tl o

2.During this period, cotton was
manufacturing textiles in India.
3G FHA | 9T § HUW § T T S 4|

Which of the statements given above is/are correct?

HA-F/RA-T HIT T 27287
(a) 1 only/aﬁl?f 1
(b) 2only /Faa 2
(c) Both 1 and 2/1 3 2 &=t
(d) Neither 1 nor 2 /7 I 1 AR T &2
I —(¢)

AT — Hed G F1 s gEHT qem: Eelitd
T SEERe A1 T gl § Aiged, gEY |
(TeEfT) # IUEAT F OWE-EE e uyl-ufew,
Feafaa, ge ofe % qon % e fiew §) wew ved
FAW 30T Ft fafy 1 I fomy e & & o 9
I7 a9 Tl faey & H gam o, 9 FRUT A |
o foew’ am faar)

Afeeh T¥=Iat (Vedic Civilization)

2. The “°dharma’ and ‘‘rita’’ depict a central idea
of ancient Vedic civilization of India. In this
context consider the following statements :
o e e A T o
T S oo & fafa ava &1 30 ded o

ﬁmﬁf@a wHAr W foem Fifv

1. Dharma was a conception of obligations and of
the discharge of one’s duties to oneself and to
others.
od fF & Al @ WE g g kA
T HeieAal G 9T

2. Rita was the fundamental moral law governing
the functioning of the universe and all it
contained.
T gord Ao faem o S oy oik S i ar
@l & forarbardt 1 Saifer e o

used for

Which of the statements given above is/are correct?
HIT-HI/RA-T HAT L /27

(a) 1on1y/éreml

(b) 2 only /&Fad 2

(c)Both 1 and 2 /1 3R 2 g

(d) Neither 1 nor 2 /4 @1 1 3T & 2

ST - (¢)
ST — Fae Ha 979 1500 3. . § 1000 . T.
o ST 8, o veR fafer % ot § wged gan 21 ggen
Ty dAfdear @ 21 R @ o fave & Afas wd
iftss =qFE ¥ A TN 81 Fd 9 agd g adn
rfemeht = | 21

dig, 99, 9NTed U v e (Buddhism,
Jainism, Bhagwatism and Shaivism)

3. The Jain philosophy holds that the world is

created and maintained b

% ITIER g 'a#)r, TOAT TS AT -TIo0T

(a) Universal law [ e ¥ Sl 2

(b) Universal Truth/Eifes o § ESl 2

(c) Universal Faith/Sasife meer § Sl 2

(d) Universal Soul/He+iftiss ST F 537 @

ST - (a)
AT — S I AT 8 gue fava Sfw qm
alie T & g we ey det 9 fieie a9 €1 S
%aarﬁsarcﬁaa@%weﬁamaﬁyﬁﬂﬁm
A AR A T 1S TAER S
& 7 gy F ForE # el 1 AW 21 gl
£ 3%?@1'{ gy & A1 T qre-uee g
§31T |

ek Sfcer™/Modern History
1857 =1 forsie wa 19 vraTedt st SAT=_Ie

(Revolt and mass movement of 19 Century)

4. Which amongst the following prov1ded a common
factor for tribal insurrection in India in the 19"

centurg

19¢ff vraTedt & ST fage % fag

frafeafaa @ ¥ ®F-¥ 9 3 9E ®R0 g

ferarr?

(a) Introduction of a new system of land revenue
and taxation of tribal products

- H A Tl F AR BT R T
3G W AL I AT ST

%u
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(b) Influence of foreign religious missionaries in

tribal areas
gt # el o SRt S

(c) Rise of a large number of money lenders, traders

and revenue farmers as middlemen in tribal areas
[ ¥ fomiferl & w9 § a9t gEm §

TEISH, S SR T & SHaRT B T

(d) The complete disruption of the old agrarian
order of the tribal communities.

Al & WA g e a6
Tyuf faero
ST - (d)

AT — IRG 193 vl § gU S s o
TE FROT 39 YRR ¥ - () SR A offeafiE %
TER H THER H T J&H R TG T B T IS
I AN H TP TGS B FAGR fFAT1 (ii) snfearEh
&t § TR 3N 2O fvefdl # gHis ST (i)
aTfeanfeEt & fia FeEl, AmRE SR A aHa B
Il TY TR Sl ol T, S i ¥ o
(iv) a7 & § WA FE0 FoR B, T 3N WER F
w1 a7 F ST R SRE T g R 7S AR R T

(Freedom Struggle and National Movement)

5. The tendency for increased Litigation was visible
after the introduction of the land settlement
system of Lord Cornwallis in 1793. The reason
for this is normally traced to which of the
following provisions ?
1793 &

B o W1 ST (qamEt st ggia ¥ aget oEt
T ot frefataa geaE § @ e T A
AT $Heh ek & ®0 H SIS T <1 T §7
(a) Making Zamindar’s position stronger vis-a-vis
the ryot/3ad &l qoT H I 3 3t

BNESECEIEI

Making East India Company an overlord of

Zamindars

I e o @t SHeRl & Al s

Making judicial system more efficient

ST

None of the (a), (b) and (c) above

@(a),(b)ﬂ(c)%ﬁﬁ@ﬁﬁ%ﬁﬂﬁ

B

(b)

(©)
(d)

I - (d)

AT — FHANAT & -] T § SHER &
qff &1 @ 79 forar T g 1790 § 39 10 a9 &
e X & M| TG a 1793 § R &
T SRR qo7 3Tk ITAHINET 1 IMvad &9 T gol
T Y 9 F I @I T F A B 8/9 W HHT
A AT AT 1/9 T FareTt b AT I g @
o fashe § feam n 1 ot fosow w74 2

6. Which one of the following observations is not

true about the Quit Il}dia Movement of 1942?

Tt Y- SHEEAT JUTTed @1

(2) It was a non—violent movement

T8 a1
(b) It was led by Mahatma Gandhi
IGHT g HeTed M 7 fopar o
(¢) It was a spontaneous movement
a8 Hd: a1
(d) It did not attract the labour class in general
= BRI
3 — (b)
AT — 9 3T, 1942 I WA SISl e o
33| YR w0 § T aAidien ifdws o, feeg S
TEIET M SR 3 FHEE Jwe H RwR G m
T I8 oiEe @HRd g T 9 d% Tged-ugad

fégs sferem # yRafdd & T o1 599 Wy ? %

1 SRR R A A T T

7. What was the reason for Mahatma Gandhi to
organize a satyagraha on behalf of the peasants
of Kheda ?
el & feraml & vt o wgre el & wemg
wHefed i ST T hINUT 41?

1. The Administration did not suspend the land
revenue collection in spite of a drought .
HA TS & dAESR TRMEH 4 -Tod & I
i T2 1 ot

2. The Administration proposed
Permanent Settlement in Gujarat.
T F T8 TEE o1 R eRa § Wi ddew
A L fear Sy

Which of the statements given above is/are correct

9

S B | hF-W/RA-9 wYT & 28?7

(a) 1 only / Faa 1

(b) 2 only / Fad 2

(c)Both 1 and 2 /1 3R 2 &

(d) Neither 1 nor2 /7@ 1 3R T & 2

ST —(a)
=T - 9 1918 # Wl (W) # fREE @ wHa
T E I F ag o Y R 7 e # 32 T &
T -T9a & I8 I W@ | TR T8
TR = 9 Toredl &1 3T Wi 42 &l | 3 T Agre
T F wer & feuEl & fFEE & WY gEmE &
YR H | 3T B (1) T & 791 B (2) 3¥HA |
8. What was the purpose with which Sir William

Wedderburn and W.S. Caine had set up the

Indian Parliamentary Committee in 1893 ?

| 1893 W W qAT T.TA.

q fae SEva @ gfgaa ufeamiedt wudt &t

TTOT T off?

(a) To agitate for Indian political reforms in the
House of Commons
o H Rl 2 eRY 3% Fm H
e FH & faw

(b) To campaign for the entry of Indians into the
imperial Judiciary

to introduce

1942 & ¥RA SIS & Heier o ftafiaa s § Y9 7q e
T | wiA-t T feoft aer 7 82 FH % foag
IAS (Pre) GS 2011 Paper I 4 YCT




(c) To facilitate a discussion on India’s

Independence in the British Parliament
TR T W e gug § == gm e % o
(d) To agitate for the entry of eminent Indians into
the British Parliament .
fafew d9= ¥ faerm TRl & 599 8g stRem
F & fow
S —(a)

T — T 1893 H W faferam aeved aar gy, .
& 7 g aferamidt FAST #i A 9Ra # Tefas
TRl 37 219 3% HT # TR & & fore ot

9. Mahatma Gandhi said that some of his deepest
convictions were reflected in a book titled, ¢’Unto
this Last’> and the book transformed his life.

What was the message from the book that
transformed Mahatma Gandhi

wEre Teft 3 wEr or R set v wew e

arumd. Vag fow e’ Ame gwe "

gfafefea gt € iR 39 g ¥ 39 Sfe= &

A STl 3H Yk hT a8 ool T or e

TETT TiEh i SEeT STr?

(a) Uplifting the oppressed and poor is the moral
responsibility of an educated man

it =afFa @ 7 At aifae 8 6 98 wifid
e e &1 3 &

The good of individual is contained in the good
of all

=l 1 Fedn 9 & Hean § ffd &

The life of celibacy and spiritual pursuit are
essential for a noble life

I SEd $ U sEed dur emenfas e
ffrard @

All the statements (a), (b) and (c¢) are correct in
this context

5g dad # T SUgH (a), (b) AU (c) FI T& &
ST —(b)
e e e M 1 B | C B oo i B S G E A Gt
AR’ STHH Yo & T S At 9 T A s
& Sed ® 9ed e T TS # a8 Haw o
TR T o e ® 9ga a8 91 - FfFd B HeA
T e # fifed 7

10. With reference to Indian freedom struggle, Usha

Mehta is well-known for .
AR T SAide & dad | Sur Hgar o

e

(a) Running the secret Congress Radio in the wake
of Quit India Movement
TG DSl e I § T FE A T
il

(b) Participating
Conference
fefter Tireriet weie & gewifiEr 2 &

(c) Leading a contingent of Indian National Army

oS &3 IS # U% THE H A9 FH 3G 8

(b)

©

(d)

in the Second Round table

(d) Assisting in the formation of Interim
Government under Pandit Jawaharlal Nehru

fed SaRLaT dg8 i dARA THR & Ted |
Here i Fae 3 @

3T — (a)

AT — 9RA SISl <A 9 W, 1942 & oY
33| 39 S<IeH & N BT gR S & B 9l #
Ta e yoRa feam S a1 3w WA W oef W
T WA THRVT 3 o e S Hedr i A
F1 e H AT B ¥ T I TEET o |

11. With referece to the period of Indian freedom
struggle, which of the following was/were
recommended by the Nehru report ?

T ST e & A o dWed # J8&
Rue # fafafaa # @ fee Sfea-fea =t
YT T TG oft?

1. Complete Independence for India

IRA & o quf o

2. Joint electorates for reservation of seats for
minorities.

FOEEH 8] oMRM WM & fou W
forater-am

3. Provision of fundamental rights for the people of
Indian in the Constitution

dfaue § andE % fou difas sl @
EiciTt

Select the correct answer using the codes given
below :

frefafan et o IaR @ W& I T
(a) 1 only/ e 1

(b) 2 and 3 only / a1 2 3R 3

(c) 1and 3 only / Fae 1 3N 3

(d)1,2and3 /1,2 3R 3

37X —(b)

T — 11 7, 1928 & & § g Gdacia THe

# 4. Aidierel TEE I A # uh Al geefg wfufy

F O # T E IR % dfuE F e &6

ferfeor e or1 Rurd # &t 7 fawiel 39 yer of -

(i) 9Rd = SHfEE L (RRS) #1 g

(i) 9Ra U " g fogs femor & #x § fueds
fgurmuea g, dhmvsd Wed % uf StRarEt
g

(iii) TER SRS it fRufa waenfae qieer #Eed

(iv) ISR MR W g¥% fAatas AUSd @ AT
TR L & TR |

(v) TRE@ & GRAG #d gL AA SAERT H

gfeared far T
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AR Rl ‘T‘ﬁ?f/ Indian Geography

wfifereh WTEHT/3TUaTE TS/ AT T
(Physical Structure/Drainage System/
Human Geography)

12. Two important rivers—one with its source in
Jharkhand (and known by a different name in
QOdisha), and another, with its source in Odisha
merge at a place only a short distance from the
coast of Bay of Bengal before flowing into the
Sea. This is an important site of wildlife and
biodiversity and a protected area. Which one of
the following could be this?

Tgeagul Afei-Rd ¥ T @ Eig gREs ®
g (ﬁ?ﬁ‘raﬁwﬁwmﬁmﬁw%) 9
Tod e | ST § §-0gs ° yeE e 9
e Teh WY T U TIW oAl S S st @ret
A FO H [ I FASiaT qgr Safeferear wr
TIE e ¢ R gHEa & ¥ feafafea § @7
T HH-HT &7
(a) Bhitarkanika/f¥a¥ehfeht
(b) Chandipur-on-sea/=eIqL-3T=-4t
(¢) Gopalpur-on-sea/TaTeTqR-311-Tt
(d) Simlipal/fametare
3T - (a)
AT — I e WE W s e dawh
T v ¥ A ¥ wed et @1 a=ste qar Se
fafaemr & o &7 % &9 § fumelw e g
@S H FRvl AL SROT HEd H AW 9 S S
§|mmwmwﬁ(méﬁm
o BT 9 & fAhe) ¥ R sEe § i I %
A THH AW FER B S &1 I TS F HIR
foret & STl T4 #1 UM TG T Tl § B 2
13. A sandy and saline area is the natural habitat of
an Indian animal species. The animal has no
predators in that area but its existence is

threatened due to the destruction of its habitat .
What one of the following could be that animal ?

iR cravfig & ww wRdtE uyy wfa @@
WTeh{eeh STETH Bl 39 &1 | 3§ Y] & hig uweiaft
& ¥ fohg oTTaTE &AW B o THNUT SHET e
T ¥ ¥ =g uy] FrafeRae § SF-ar @ weRar &7
(a) Indian wild buffalo/9Rdta =1 &g
(b) Indian wild ass/9RdTT = &1
(¢) Indian wild boar/ WRHTT &= TEH
(d) Indian gazelle/S A TS (M)
ST—(b)
T — T2 SR Tl & Th IRAE 0y S &
TPl MG 8, UH Y] GRAE 7 Ml @1 Hes b
T THH MFHfod & 21 ST & H 39 Y F B

14. Salinization occurs when the irrigation water
accumulated in the soil evaporates, leaving
behind salts and minerals. What are the effects of
salinization on he irrigated land ?

ger &l g W uwba fafem S@ &
arefigd B9 W Wi g U i @it ¥ 3w
Far &1 fafa gft W eevfivas e g
Tgar §7
(a) It greatly increases the crop production
T8 % SeIET | ST giy o 2
(b) It makes some soils impermeable
e FD YA F I T A &
(c) It raises the water table
T8 9T STeTE H S A S 2
(d) It fills the air spaces in the soil with water
7€ el % o1 SFAHE Bl A G 9 & 2
I - (b)
AT G F @auiead gal § THha f&faq 5a &
Al 8 ¥ 6D @2 AH% IR Wil ¥ 3w g 8|
fafed gft | davfies g9 & FROT gaT ST I
ST 21
15. The “Red Data Books’ published by the

International Union for Conservation of Nature
and N atural Resources (IUCN) contain lists of

e wd HHTE HIQIUT T
(IUCN) B/ y&iiyd ‘‘Yg srer gw'’ ®
Fraferfaa gehafeat afmfea w5t wmdt 878 —
1.Endemic plant and animal species present in the
biodiversity hotspots
Shafafaear & YeR el (gfe-wew) § fame
wenfers o st Ty SfeEr @ g
2. Threatened plant and animal species.

Hehewed el 3R gy e g

3. Protected sites for conservation of nature and
natural resources in various contries.

fafter 3ol § woft wd e duEe S 3
Ty el S g
Select the correct answer using the codes given
below :

frrfefian wet o MUR W |/ 3T I+
(@)land3/1 33  (b) 2 only/ el 2
(¢)2and3/2 3R 3  (d) 3 only Faa 3
ST - (b)
STEAT — YH(d T Tpfdeh S STRUP defu 99
(IUCN) 51 S ‘I8 ST 999 # Heheed dieif
i gyy Sfet < gt gfeife @ S &1 TUCN &
T 1948 § WA & TV N Hs FEEAl F
Ad 3TN &I 96l & & 23T T & T2 oA
16. The lower Gangetic plain is characterized by
humid climate with high temperature throughout

the year. Which one among the following pairs of
crops is most suitable for this region ?

TRl FE @ e ST Y & % BT SEH A N & T i oei ad
T H B T TAdTg I AUHI o W A A el ¥
IAS (Pre) GS 2011 Paper I YCT




3@ &9 & fou fAfafiaa waet & o § 9

THIF-|T G Tod UG §7

(a) Paddy and cotton /419 3

(b) Wheat and Jute/ﬁ"é\?vﬁ'(_\i?

(c) Paddy and Jute/9T R S

(d) Wheat and cotton/ﬁ’é\ R HUH

ST —(0)
AT — T % e deE $ gagw e 98 @
fh 781 W o W Fo@g a9 TIHH & WH R A
TR 2 R 98 &9 ¥ iR SE wEel & fou el

YT B

17. The Brahmaputras, Irrawady and Mekong rivers
originate in Tibet and flow through narrow and
parallel mountain ranges in their upper reaches.
Of these rivers. Brahmaputra makes a ‘‘U’’ turn
in its course to flow into India .This ‘“U”’turn is
due to :

feresra o Seafs U aTelt SEIgs, $Waet o i
Afeat oue Sudt Uil ® Heahivt 3R WWieR udd
ST & FreRT Tefed Bt 81 39 AfqEl W SRy
ORd W yfa® g9 ¥ dieh Ugd 31U WaTE ® Uk
F-24 (U-turn) At &1 T8 -2+ &A1 s=ar &2
(a) Uplift of folded Himalayan series
afera femrera gftrell & 3= & FRo
(b) Syntaxial bending of geologically young
Himalayas
g e REHeE % sEEEE T &
U7

(c) Geo-tectonic disturbance in the tertiary folded
mountain chains

T Fedia afer gea-arenstt § g-fyadfes e
& HROT
(d) Both (a) and (b) above
Taot # STIH (a) 3R (b) I BRUT THETT &
W(b)
AT — SR, A SR AH A P 3 s
F gt 21 F gl i THARR qdd ST @ @
yaed 2 ¥ S A9 qRd § w9w ¥ 9f g oA
oft 3, W 7 & qAwbE qev RueE & ot Oee
T F HOT S

18. A state in India has the following characteristics :

I ORd & Uk TS ol
ferforgamd € :

1. Its northern part is arid and semiarid.
IR I AT H T T 2

2. Its central part produces cotton
IHF T A H FUG H I B

3. Cultivation of cash crops is predominant over
food crops.
I TF § @ wEAl o JoT H Ahd Bl b
Tt srfers gt 2

Which one of the following states has all of the
above charactersistics ?

sude weft fafdreand frafafaa & @ foe
TS ¥ Tg WAt &7

(a) Andhra Pradesh/31i%l T (b) Gujarat/TsIId

(c) Karnataka /e (d) Tamil Nadu/afemrg.
ST —(b)

ST — TSN TSF F1 I 9 I TH ST 2
T e AT § UG H AR BT & a9 Igf W T
HHA I qA H ARG AT ATIRS FHA Bl S @
F S 21 TR (RE) I e 1 WE, 1960
dEN T ARG & ufved qC W fRm 21wl # 5o
HYA, T, HUE Td el 2|

g, o, Tidt, fens afeisand, s

(Monsoon, forest, Soil, Irrigation Project,

Agriculture)

19. With reference to micro-irrigation , which of the
following statements is/are correct ?

g&w—ﬁv@aﬁwﬁ%mﬁﬁﬁwﬁw@aﬁ@r
HIT-H/RA-H HAT TE 2787
1. Fertilizer/nutrient loss can be reduced

Ta § IHH/IF B FH H S FHA

2. It is the only means of irrigation in dry land
farming

T e Wt i R=E S ThAE qHe 2|

3. In some areas of farming, receding of ground
water table can be checked
Y FB P &F H 9T Torw B B9 e F T
ST Febell 21

Select the correct answer using the codes given
below :

frrafafad get o SUR W ' I P

(a) 1 only/ %o 1

(b) 2 and 3 only / adt 2 3 3

(c) 1 and 3 only/ %aaT 1 37 3

(d)1,2and3/1,2 3R 3

ST —(¢)
e - g R wsfa R @ amyte soE
Tb-Ahl § T TH 2| 395 30 JaT T ISH/UI gl B
F ST A ¢ TA THE FS P & A A TR H
A B F Ul ST Gl & |

@, Ffer HETE T SENT o SUR
(Mineral, Power, Resources, Industry and

Trade)

20. Among the following State, which one has the
most suitable climatic conditions for the
cultivation of a large variety of orchids with
minimum cost of production, and can develop

and export oriented industry in this field ?
o ot 3 fot ot H e e
Serarg-fasae feafaat sueey € e =gAaw
TN | 3nfene ot fafaer ferent it @t &t |endt
%, 3R 9% 3@ a9 ¥ frata-sq@ se faewfaa
T HehaT &7
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(a) Andhra Pradesh / 3% EEN)

(b) Arunachal Pradesh/ 37&UT=el EEN|

(c) Madhya Pradesh/ #&x EEN

(d) Uttar Pradesh/ 3tX EEN|

ST - (b)
AT — AT X AT H A Ferar- s
ferfaat Sucrmy & fored et W anfhe o fafay foredt <1
Gt & ghdr ¢ a At W g sa et
fepan ST WeheT 21 STl 9RG H SRUTHA W FHE
ek &7 F ®9 § IW @ 21 T TP F G IR
anfehe & feferer forei s = AT Tl 2 |

fava @1 et (World Geography)
FEIUE T GRS

(Universe and Solar System)

21. An artificial satellite orbiting around the Earth
does not fall down. This is so because the
attraction of Earth.

gt & TRl AR URRUT &Y T@T HW SWE
zafem geeft w e = fivar s=ife geeft o
STTeRE T

(a) Does not exist at such distance
Tt ™ 2 @
(b) Is neutralized by the attraction of the moon

=EH & 4 fifsrg & s 2

(c) Provides the necessary speed for its steady
motion

sud Frifid =1 & for sereas T Se S @
(d) Provides the necessary acceleration for its
motion.
IHS! T & T SMEvES @07 FEH HIAT 2
ST - (d)
T — et & AR SR U R W FHAE IWR
i gt WA TE R i ge @ s
3G T & AT Evas @O FeH e 21 gel %
TR SR IRFAT H gL FOH ITE W A THR & 9
w1 - @%Wwaﬁtwq&ﬁwwﬂ
TMEAHR geft 1 Tecarbuv 9 HLT ot T 8 Forh
FROT ITHE Y T & AT SMATIH STUhsl =T It
g F gAT rgar ST Fan § e e @
I geAt W A T e 2
22.

What is the difference between Asteroids and
Comets ?

TSI AT YAk o STa 9T AR EIe §7

1. Asteroids are small rocky planetoids, while

comets are formed of frozen gases held together
by rocky and metallic material.

R Y TeH TR (wHerde) ¥, Sef
s Rl A6 @ R @R § R weeE
S o1 gard o F 9 @ §)

2. Asteroids are found mostly between the orbits of

Juipiter and Mars, while comets are found mostly
between Venus and Mercury.

eI e Jewfa iR Het % ufshAIe %
= UT S §, Sefh gueq AfwvE: [ R
g9 % o9 9T 9 £

3. Comets show a perceptible glowing tail, while
Astreriods do not.

g TR AfFAH T8 auiid €, S 50 T8

T &I |
Which of the statements given above is/are correct?
Suder T ¥ RIF-FI/RHE-8 HAT T 3/2?

(a) land2only/av_clﬂ 1 32
(b) 1and 3 only / ea 1 3R 3
(©) 3on1y/av_e|?'r3
(d)1,2and3/1,2 3 3
I — (b)

ﬁ'@qﬁ?%%mwwa‘éwaﬁgy{ﬂgwﬁﬂfﬂg&ﬂ
é|ﬁtﬂv€a%éﬁ?ma§ﬁ€r@ﬁ@€a@ﬁﬂg
form & ST kg 1 TR AR Fea %l%’ T
¥ F TR 8, S MER H el weer §v wfed
T 3 TS M 3 w9 # e 37§

23. Westerlies in southern hemisphere are stronger and
persistent than in northern hnemisphere. Why?
E3ull @ geT | i%ﬂm‘ )

o STfereh WYTeRT TAT TATS Bt &1 a7

1. Southern hemisphere has less landmass as
compared to northern hemisphere.

STl e i qer # 2T Mend § @ F:4 2

2.Coriolis force is higher in southern hemisphere as
compared to northern hemisphere.

TG Mg & qer # afRyer werd § Siiead
T e B & |

Which of the statements given above is/are correct?

BA-FVHT-H HAT TE 8/87?

(a) 1 only/ &ae 1

(b) 2 only / Fac 2

(¢)Both land 2/ 1 3R 2 &t

(d) Neither Inor2/ Fa 1 3R T & 2

3T — (a)
ST — T TS A o1 § 07 T, § qreas
T ek GYER AT T B @ st Rl Mers
¥ S 9 S B H BRUT 40°-60° TS H A
fomr ol ThEe & Y=UE A0 9 o @ Seih Il
Mg ® T 90 & AR 89 & FROT T YA
AT 9 ¥ Terd €1 HIRATE ae H J9E I T
et e & g9 &9 9 & 81

24. Between India ands East Asia, the navigation-
time and distance can be greatly reduced by

which of the following?
Pavaforfian & 5 Dotn sv e sive udf aforn
& e e Tn @AfrmeE e oiw g

arcfires s feRT 9T Wehd €7
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1. Deeping the Malacca straits between Malaysia
and Indonesia.

F I Holgdhl STASHEH
I 31MF T T B

2. Opening a new canal across the Kra isthmus
between the Gulf of Siam and Andaman Sea.

faam @ R sieAm WR & diw Hr oqEy
TASHENE] & UK 9% oL @A |
Which of the statements given above is /are correct?

HF-H/R-T HaT TE 2727
(a) 1 only/ &aa 1
(b) 2 only / e 2
(c) Both 1 and 2 / 1 3fiX 2 =t
(d) Neither I nor2/ T @ 1 R A& 2
3T - (b)
1 r> | I o G | Sl i e e | e A R
I JASHERE % UR T TR @asl R i gf
wfrr % fi9 e w s g # safus ae
fopam < weher 21
25. Consider the followin
HIAT W

1. Biodiversity is normally greater in the lower
latitudes as compared to he higher
Ei==nrd # g # fear swiwi |
Shafaferear grET: i 2 2

2. Along the mountain graduebts, biodiversity is
normally greater in lower altitudes as compared to
the higher altitudes.

TAUIAIS (AfET=H) o, I Al
qo # feee sEarn 6 Shefafoed dma:
sferss e 2|

Which of the statements given above is/are correct?
-W/RA-Y AT & &/87?

(a) 1 only /&aa 1

(b) 2 only /Fad 2

(c)Both 1 and 2 /1 37X 2 &=t

(d) Neither 1 nor2 /A 1 3 TE 2

ST (¢)
AT T & § Iegal SAdivn i 3TUer fAee
sodill # Se fafquer @eRomEer sfue @ 8 der
FoAAX TS S oTUe frEay owiivh H She fafgemr
T S B 2

T AUSH (Lithosphere)

26. Recently, the USA decided to support India’s
membership in multi-lateral export control
regimes called the Australia Group and the
Wassenaar Arrangement What is the difference
between them ?

T W Hge T TR ¥ ¢ sieeferan wug
qAT IR FaRr’’ & AW ¥ 9 aguefia
frata freisn saeamstt § 9Ra & 9ES S0
W @ wueds 9 @ foim faer €1 3= A
wraeTedt o sfier o T 87

statements :

1. The Australia Group is an informal arrangement
which aims to allow exporting countries to
minimize the risk of assisting chemical and
biological weapons proliferation, whereas the
Wassenaar Arrangement is a formal group under
the OECD holdlng indentical objectives

Y U TR e § e
Tzt forrfees 29t g7 T qA1 S s %
TUH # e 84 % SfaH $ g B 8,
Safh “GHAR Fawr’ OECD & 3idid Tfed
=i g © fores T @ €

2. The Australia group comprises predominantly of
Asian, African and North American countries,
whereas the members countries of Wassenaar
Arrangement are predominantly from the
European Union and American Continents

a-m%\am g’ % Wl e uiemE, eTweh

st 3af SR F 3§, T TR e ®

Teur g i G iR SR Ferdiat & 2 T

Which of the statements given above is/ are correct?
-|/A-| HYT 9 2/ &7

(a) 1 only/ &ad 1

(b) 2 only /&Had 2

(c) Both 1 and 2 /1 3R 2 &=t

(d) Neither 1 nor 2 /4 @1 1 3 7 & 2
1985 # woifte o=

I - (d)

e - e

e ¢, 1%1@43 ﬂg T G €9 & w27

e v &1 59 ord fEias a9 gw awEtes

Ao Sifeeh & & S f e @ % St @
HET 31 TR e sgEdE i e

e 21 59 42 gae 39 € fed g Eﬂﬂuw

3R Ml werddl % v (YRE ¥ SO

27. The 2004 Tsunami made people realize that

T &, 37piehn) wmeet €1
mangroves can serve as a reliable safety hedge
against coastal calamities. How do mangroves
function as a safety hedge ?

2004 = TE TEEE H e
A (i) @@ eueTe ¥ ey faveae
TG ST T HE T Wehd &1 TR T 1S &
=Y # e R e e €2

(a) The mangrove swamps separate the human

settlements from the sea by a wide zone in which
people meither live nor venture out .

TWE 3T T ¥ Y5 IR AHg afwrdl & $
ggaﬁﬂ@?ﬂ@w%aﬁ?ﬁﬂwﬁ@%q

(b) The mangrove provide both food and medicines
which people are in need of after any natural

disaster R
w@ﬁmw%wwﬁﬁwm%

(c) The mangrove trees are tall with dense canopies
and serve as an excellent shelter during a
cyuclone or tsunami

T % g87 54 foaE & o 9o @ & S =shar
IR G % A SO Gl Y& K §
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(d) The mangrove trees do not get uprooted by
storms and tides because of their extensive roots
TR % FeT I T TSl F FRUT M N SR
e § T s@ed

I - (d)

(d) Its location between the Pacific and Indian
oceans and its pre-eminent maritime character.
77 YA R SR R memR % & R 7

3N 3TH IR IFHT T &
ST —(d)

R — B 9 A 3 AT S qdi siuare
% e fovawia g o @ & o § w3
I I TEF % FROT THE SR WR 9 § T 3@ &
oS o Y o T A 9ET U 8, o &
T Hd F B B
28. What could be the main reason/resons for the
formation of Africa and Eurasian desert belt ?
T femtor w1/eR
T HIUT FAFIT-T & Tehell /T €7
1.1t is located in the sub-tropical high pressure cells.
Ri I q@ R ( o) #
J7afem 8
2.1t is under the influence of warm ocean currents .
g INT WEHIR NS % q9 & H ggdr 2|
Which of the statements given above is/are
correct in this context ?/s9

HA-TVRA-T FHIT TE &2 ?

(a) 1 only / et 1

(b) 2 only / Had 2

(c)Both 1 and 2 /1 3K 2 &t

(d) Neither 1 nor 2/ 7 1 3R 7 & 2

ST - (a)
AT — ARG Ta1 & BT & 95 § 0, FeE
YA I WA F UPEH FFAR W eEfRafy qur 3
GRS B T 3THI 3N TREIA & &
frrfor &1 W ST 21 gEe faRad SUwT 3= ad
Ffvepe (38 IR ) H omfeafy off e
TeAqU BT 21 AE I uwed % ywa § g S
Tkl I SR A I 2

STl AUSH (Hydrosphere)

29. Southeast Asia has captivated the attention of
global community over space and time as a
geostrategically significant region. Which among
the following is the most convincing explanation
for this global perspective ?
9q- W g § WEegul &5 B % A
Zfequr geff ufiren wa siauer iR wuw @ dfvaw
TUETA T AT SIS AT T ¥ 36 AT
et @t Frafafas § 9 @F-dt =ren ey
TRt &2
(a) It was the hot theatre during the Second World
War.
T8 fodia faea I o |ichg seareee o1

(b) Its location is between the Asian Powers of
China and India./98 TN F & WfFE $9 3T
AR % e o 2

(c) It was the arena of superpower confrontation
during the Cold War period/a€ 3fid 5 i 3@y
T WRrIfaTEl o d WER g & o o

Th
3=

AT — J-SAfd # 3P ¥ Aeyt &9 g9 F AW
ferr-gdf wfern T SiE SR WA ¥ Aftes TEE
F P SEHT FA 8, T WA TR SR =
TR % d9 T 8 o sue IRT I asad 2
39 &9 F Wed & @d gU WEEHT N RAUS &
forgre e e an

30. The surface of a lake is frozen in severe winter,
but the water art its bottom is still liquid. What is
the reason ?

S WIS 3ier it wag fewwfifaa &t st €, g
IUH a1 W Tt o TaeT H o1 W@l &1 Tg foha
HRT ¥ TraT &7

(a) Ice is a bad conductor of heat

ath AT # e ©

(b) Since the surface of the lake is at the same
temperature as the air, no heat is lost .
i F FAg R Ag B A9EHE TH-AT B b
FHRUT ST H P B AE B

(¢) The density of water is maximum at 4°C
STl Bl WA 4°C T SArehad 2t 2

(d) None of the statements (a),(b) and (c) given
above is correct

79 ged # 3T (a), (b) T (c) FoI H § H13
o T T 2
3T —(0)
T — 2 W12 # fil & gag Rusfifa & o 2,
fohq 3% 71 § 9T 59 TN § I Wl &1 FAfh A
F FEAA 4°C W AHaT el 1 T F T 0°C W
S ST R W] §98 & A REEE S & aeEE 4°C
B % PR St A S fsfifaa wae s @ e
A § T S F SUCT I AT AR e I 2 B

31. La Nina is suspected to have caused recent floods
in Australia. How is La Nina different from El
Nino.

g Heg ¢ o emeferar © Tt W ol @ng e-

'’ & wmrer SR ot - - |

& R &2

1. La Nina is characterized by unusually cold ocean
temperature in equatorial Indian Ocean whereas
El Nino is characterized by unusually warm ocean
temperature in the equatorial Pacific Ocean.
- faeda g wemrR # & STHTERT
w7 § ST AUEE § 9RfE @ 8, Sefs Te-Ae
fomadtar woia 7eEFR # NE & STHIERY ®9 ¥
T A § =R g g

2. El Nino has adverse effect on south—west
monsoon of India, but La Nina has no effect on
monsoon climate .
TA-AA ARG H S0 AT WA
YOG TSl 7, fhq AT H1 AT o W
FIE TG Ael TS|
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Which of the statement given above is/are correct?
HA-AV/R[E-T HAT T /2?2

(a) lonly/aw_cl?fl

(b) 2 only / Had 2

(c)Both 1 and 2 /1 3R 2 =t

(d) Neither 1 nor2 a1 3T & 2

ST - (d)
T — AT H e gieedl YOI WEER %
SO ¥ § Tafh TA-AA H T gd e AeEE
St % amee # gfg § 21 oA S 9 & R
ofgerdt AgT W SRgd 9 ggdr @ SElh -
FHRUT TSI UF A ferar & qeftyad o # g
g o awl g @ SR wna # off sl A
sifers wfsha & S 2

SHEEAT T TRIRT

(Population and Urbanisation)

32. India is regarded as a country with Demographic
D1V1dend This i is due to

1)

(SMuTReh
%ﬁé@)mﬁ%m%wﬁﬁaﬁﬁ‘%lﬁmw

(a) Its hlgh population in the age group below 15
years.
Tl 15 § HH 3 i A e A @
(b) Its high population in the age group of 15-64
years
T 15-64 % Y 7 I SHEE A @
(c) Its high population in the age group above 65
years
75 65 o T 3y g v P TEE A
(d) Its hlgh total population
Tgl S Fel TG e
37X — (b)
R — IRA & (T SHifheh ey (STt
fefye=s) arel 29 & &9 § F I 81 THH FAT @ §
5 ol 15-64 o Al F FAEE AF ¢ T T
Td ggi & G FH 2|

ARATT e ud Tsedaren

(Indian Constitution and Governance)

TEEET, W U &, ANRedr, Uo

3. Right to food
IS 1 B

Which of the above is/are Human Right/ Human
Rights under Universal Declaration of Human
Rights ?

“Ore SRRl i AT STEHUn’’ % Siard

SEed W W RE-"r/AE-" ISR wEe

STfreRTy AATARRT W AT /2T &2

(a) 1 only/Haa 1

(b) 1 and 2 only/&aat 1 3R 2

(¢) 3 only /&aa 3

(d)1,2and 3/1,2 3 3

ST - (d)
AT — “HFa AR #f s IgEme” & statd
e 1 SRR (3. 26), THFM F WY WA TR HaT
T F BT SRR [3. 21 (2)] TN TS BT AEHR
[3r. 25(1)] & €1
34. In India, if a religious sect/ community is given the

status of a national minority, what special
advantages it is entitled to ?

O ¥ TRt enfiTe Wyee 9e™ @ atg g

TR U ACTEETS a1l A1 & AT & o 98

o/ Torgier ETeT/eTel T ZeRa &Y ST 872

1. It can establish and
education institutions

T8 ErE/aYEE e SR SR & s
3N GeTer Y Fehl & |

2. The President of India automatically nominates a
representative of the community of Lok Sabha .
IRG & TP WoHd 39 G/ TR %k UH
SRR & e § 7T a9 §

3. It can derive benefits from the Prime Minister’s
15 Point Programme.
T8 TYRR/HIEE THAEA ok 15-FEC FREH &
I I KT bl 2|

Select the correct answer using the code ven below

e o s e b

(a) 1 only/ &ad 1

(b) 2 and 3 only / adt 2 3 3

(c) 1and 3 only / &ael 1 3K 3

(d)1,2and3 1,2 3 3

3T —(¢)

administer exclusive

ARTER e T R S T — IR Gy & 38 30 & faia fmen

&S o éa " W TNt S TOT SR SUET O H SaEETE auf

(Preamble, Unl?n Territory, CltlZenSl?lp, SRER 31 SR 30 (1) F FER §¥ a1 AW W

Fundamental Right, Fundamental Duties, ||t off sroqders st @1 s &y & ReEn

gPS(I:’[ e the follon TEqreT P T SN O F SRS G SR

. onsider the rollowing 30(2)%3@“@%;{@_[\3?[3% aﬁﬁw

THCTfee o Tt i forelt fren e & foreg 59 OMUR W i A& Hum B

I. lé_lr%lta(;[feducatlon T o T o W o Forett . i

2. Right to equal access to public service d aﬁ W QITT SeagEh ol & FHeAwn & e
THMT & 1Y e %Wmmm TEFHA FT 15 @TEe HrRihH I 5 T
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T TS TS Sl HAUTCTehT, ST ST
(Union & State Executive Emergency Provision)
35.

The authorization for the withdrawal of fund
from the Consolidated fund of India must come
from

ara = g fafr @ fafr feem & foag
frafafaa # & formert srgHies st 2
(a) The President of India / YRd Ed TI'E'CIﬁ
(b) The Parliament of India/ 9T & TG
(¢) The Prime Minister of India / ¥R & T&Tw!
(d) The Union Finance Minister/ S fa &t
37T —(b)
ST — 9d & dfaa A @ ffy feem & fag
aRA H GGG H Hfad 21 =g % fawg #
WW#@%W&%WWW@@
e 2 R 9Rd TR B o qeft T9 3R 39
g fow MU g+ 3R Hew feu U SRR 266 (3)
¥ OFER 9Rd & dfed ffa § § ol fafy
SR & =3 # S
36. All revenues received by the Union Government

by way of taxes and other receipts for the conduct
of Government business are credited to the

TR HHE % g I
et AR R T ot W TSI ST T &
(a) Contingency fund of India

IRA I SATHEHar A &
(b) Public Account/al® @@ §
(c) Consolidated fund of India
IRa &t gfaa A §
(d) Deposits and Advance Fund
faerg der o1 fafy &
ST —(¢)
AT H R WHH FwEe F Al § g o=
el & S TR F A AT T Tod AR ol
dfem fafy & ST @I @1 STESR 266 (1) % IFER
IR 267 H ITAL B TN I B IR Y B YS
AT quid: a1 9rTa: TA 99 Ry 9 F g6y § 59
M & ITEHl ok I W gL ARG WHR H IA
I A7 Frarg Bt 5 fore e gt SR S SuNi &
Y e # 39 WHR A W\ g gaiE U
e Ffy ol S ‘e g AR & 9@ F 9@ e

faerm wuee : wiEuiug
(Legislature : Council of Ministers)
37. Under the constitution of India,Which one of the

(c) To Safeguard public property
Hufd s G AT
(d) To abide by the constitution and respect its
ideals/Gfae= % ufq f@EE T R 3HF
3T BT FH HTT
ST — (a)
T — AT H@fae % ofdfd e gl § "aeE
HET IA Fied T 21 DT 51 (F) T FeA & agd
TR % Fedeh A I Hhaed B b 98 —
o Ty & WeW N ITF IEw, Teeed,
queAs 3N TP I e H,
® T & Y gAR TP S=ieiq i IRA HT ATl
I 3YEN Hl ged H Ho W 3R SH T A,
® T I AT, THAT AR @S H &N HL A 3
I T,
oémﬁtwﬁaﬁtmmaﬁmugﬁﬁm

oﬁwﬁ@q@ﬁm THEEE R FESE qg ggR
AT S e &,
o TS el 1 e W ok e ¥ | R

| et TreTemaT 7 ST e et

(Panchayati Raj and  Constitutional

Amendment, Schedule)
38. The Constitution (Seventy-Third Amendment)
Act, 1992, which aims at promoting the

Panchayati Raj Institutions in the country,
provides for which of following ?

TRy (739 WoNew) Sifrfre, 1992, Rt
eI 9T W YT TS HEATIAT Rl WIeATRd AT
¥, Frefaftaa & & foray TomT <ieit ot ssrereeT aar 22

1. Constitution of District Planning Committees.

fSrer =t afufeat &1 e w1 #
2. State Election Commissions to conduct all
panchayat elections.
T fatad smart g1 Wi daR #@ g B
3. Establishment of State Finance Commissions.

T fom A & w9 e H

Select the correct answer using the codes given
below

frrafafad get o STUR W ' I P
(a) 1 only /a1
(b) 1 and 2 only / %eeT 1 3R 2
(¢) 2 and 3/ only FHae 2 3 3
(d)1,2and3/1,2 3 3

-(

following is not a fundamental duty ? ST —Hfaue &1 739 gene i, 1992 g/
} H W BTN | g & e ot T s ) e @ 813
Tt oA TEl 87 I, sl SN el T W w©ifyd & T 31 3% HE:
(a) To vote in public elections I q, sl wgEr gffy ok fer oftee & Am g
AR ST S 21 A SAfufEm 24 e, 1993 ¥ QR e #
(b) To develop the scientific temper AT g3 T
ggfer e e
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IR H TR T JoTelt Tfge 3 Hifq e qwt
F Ted AU T eeE-40 & fadui & e e &
T Afy fvE aE % 39 eeet § AW gemEl @
A F IR IF WG WA uE T/H g
FIT I3M N T A T4 B
TRl % fou d@fgem & 739 gwrem sifefrem, 1992
5 1 % Yrae § - Tsa frafe s (3. 243K),
TS fore AT o, [243(1)] B e Forerm o s
F A (3. 243(ZD) 74df dfagm denE & d@d
[ERIECIEI
3T T T I IW fIhed ¢ B AR T ST
TH ¥ N IW d T 4TI
39. India is a home to lakhs of persons with

disabilities. What are the benefits available to
them under the layv?

WA eaferrat (Persons  with
disabilities) e H@IT TM@T § &1 denfes & W
IR RIT-HIT § AT U 27

1. Free schooling till the age of 18 years in
government-run schools.
THR FN T ST R Tpal § 18 a6 & Mg
[GRIGANEIN

2. Preferential allotment of land for setting up
business.

FaOE g @ & fau afmam @ gt &
e |
3. Ramps in public buildings.
el JaHl H BT S STeteeT g
Which of the statements given above is/are correct?
U B | F-/RA- wUT TEt g/ §7
(a) 1 only/ &ad 1
(b) 2 and 3/ Fae 2 3R 3
(c) 1and 3 only/ et 1 3R 3
(d)1,2and3/1,2 33
I - (d)
AT e =Aff (Fa Saw, SRR & e ik
ot TR S, 1995 9% FFF wad, 1996
@] fFar TN T ST F ded b5 R TF W W
fasharm & garg 1 e 3 A e o9 o,
IR 3R Aaws S, sega aRaw & fmo,
fawaim & fu qafg Sash &1 gEgE, S o
aﬁimqmmwmﬁﬁéaaﬁxwﬁm
SIS T e fRrebrad farer & onfe el | e
fear T 31 T & sieia fwer gt 1 18 9 F 31y
T e e &1 TauE g du Faus @i S F
forT a8 o 9fy &1 e qu TS wa § @1 @
SUCTedT 1 A SraEH fHAr T 2
40. Consider the followin
HAA W
In India, a Metropolitan Planning Committee
ORE | WA

1. Is constituted under the provisions of the
Constitution of India.

gt dfeT % gEuE % sidtd fed e 2

statements :

2. Prepares the draft
metropolitan area./3¥

ST MY TR FE 2

3. Has the sole responsibility for implementing
Government  sponsored  schemes in the
metropolitan area.

g &7 § WHR F AT Ferrett @
AN H B Ol A T B 2
Which of the statements given above is/are correct?
-H/@-T HI TE /87
(a) 1 and 2 only/ %aet 1 3R 2
(b) 2 only/ &I 2
(¢) 1and 3/ %aet 1 3 3
(d) 1,2and3/1,2 3R 3
ST — (a)
TR Sf9F F 3% 243 (Z E) § TR s
% T 9 & e @ TEuE 81 35S T HER
& o, weol W & % T e AT 96 dOR & &
T U WM ST Sl &1 TS R S
41. With reference to the Finance Commission of

India, Which of the following statements is correct?
HRA

-1 Uk T TE &7

(a) It encourages the inflow of foreign capital for

infrastructure development . )
g FHTE A foaeft st ofmfer

Siafed e @

(b) It facilitates the proper distribution of finances
among the Public Sector Undertakings

development_ plans for

fo fawrg

a8 Tfeq fom fomor &1
T S 8

(c) It ensures transparency in financial administration
g ferfra some # T 2

(d) None of the statements (a), (b) and (c) given
above is correct in this context

Wi?ﬁ (a), (b) T (c) = & T FE

%@ o amam (Finance Commission) <l T3q
wélql%mm% 280(1)1&&%’@3@41%

oA F AARTT TR I G &
STHR AT H Faod & % T T
oy H 39T T —

() HE T TS & A= fGaeEE W W AW IE
Wwﬁmwams@ﬁﬁrmwﬁw%wn
ara & gfa At F

SRS

Tg & o e g/ i T RAERen & STHR W
TS # TR & d9ee S o g & fag
et T it w@faa Ay & gada & faw emeavas
TR F TR §

qge fom o fed § Ugufa g s & fAfdy fear
AT 3 HIE AHAT|

280(3) &
ffefiaa &

(ii)
(iii)

(iv)
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refeTrereen /Economy

42. A ‘closed economy”’’ is an economy in which
“sig srefeaTan’ ag sredfemewen ¥ feH-
(a) the money supply is fully controlled

a1 et qoie: foeife e

(b) deficit financing takes place.
o2 A for e B @

(c) only exports take palce

(d) neither exports nor imports take place
3 @ fyafa, 9 & s & g
3T - (d)
R - T Fdae a8 e § Se A
S B g SR A @ FEf g g1 ewiq W=
sreferaen a8 srdferawr & S awgel danel s &
SArE-frafd 1 e wadr g1 3 (d) G 2

43. In the context of Indian economy, consider the
following statements

% Hed o freafafaa wot
T ferem g

1. The growth rate GDP has steadily increased in the
last five years.
forma ur auf § wehal W 3R F g W HAq
&9 Y 7 @

2. The growth rate in per capita income has steadily
increased in the last five years.

forma uiw &t & wfy =afe omg & 9 w gad w9
q o 21

Which of the statements given above is/are correct ?

BA-TVRT-T HAT T 87872

(a) 1only/av_°|ﬁl

(b) 2 only /A 2

(c)Both 1 and 2 /1 37X 2 &=t

(d) Neitherl and nor 2 /9 AR Td2

ST - (d)
T — 3MER T 2004-05 W I AfFT 3F qa1
Tehel ] IS (GDP) # 9fg & 39 YR W 8 -

a8 06-07 07-08 08-09 09-10 10-11
PCI Wfaeafer 7.8 8.1 4.9 6.1 6.6
£ o)

GDPHE&HA 9.6 92 69 80 86
T IS

YT AfThl @ ¥ WE & S @ 6 T ufy
3 S T & Tebel TR IR o i AN § R 9 2
Are- G # SER 9T 2011-12 B

44. In India, which of the following have the highest

share in the disbursement of credit to agriculture
and allied activites ?

ara # fr=feafaa & @ fra & i qom deeg
it § wor & ferewor ¥ wad aiftres Rerd #?
(a) Commercial Banks/aTfoTede eIl

(b) Cooperative Banks/HgeRI eIl

(c) Regional Rural Banks/&= ooy st &t

(d) Microfinance Institutions.

eA-ford (MEshIeTEAE) Hearst

ST - (a)
AT — PN a0 TedS & § @k w9 ey
s Read aftfsrs S @ 81 @fsa d9 3
2006-07 # &ft ador St % @ F & H 140380
FAE TIT T T F0T U FIAT S & Aoy
S T T 20,440 FAS FYC BN AMHS T ITCAH
T 2

SHBCAERISERCRIEIDECI RIS C
(Economic Planning and National Income/

Budget)

45. In the Union Budget 2011-12, a full exemption
from the basic customs duty was extended to the
bio-based asphalt (bioasphalt). What is the
importance of this material?

Fee 2011-12 W W9-US  UERCE
(STEUERE) W T Hagew w Il ge wen
= TS 31 39 uared W o W 87
1. Unlike traditional asphalt, bio-asphalt is not based

on fossil fuels./9%aRe% ﬁ'@b‘l_i £ faqdia,
FEAITRCS SHaTed gt W menRa et g

2. Bioasphalt can be made from non-renewable

resources. @ (AtA-Regearen)
et e & e @

3. Bioasphalt can be made from organic waste
materials.

v Sig Ufye gerel 9 i & g 8

4. Tt is eco- frlendly to use bioasphalt for surfacing
of the roads./TANUTRCE H Hghi &l g
e R % e 2|
Which of the statements given above are correct
Suded ¥ | M § ®UT Wel §7?
(a) 1,2 and 3 /&ad 1,2, 3 3
(b) 1,3 and 4/Fa 1,3 37 4
(c) 2 and 4/35e 2 3 4
(d)1,2,3and4/1,2,3, 3R 4
ST —(b)
T TEUThCE, TS TEHeE () & fasHeq
2, foger fmfor Sharen ot w smena =& @ 2
T femfor R-ugifersm smenfia Feietola &idl 4 fpan
ST 81 39 &l B R, 9, I, i, Gihe 9 %
T & TARTE, T o dd & TR, fafm, e
Ffe oftfferd 81 TEUThee TSl & G & dagqH
FY W H R 2| 3: aEIEhee ¥ ggahl H F9d
T T aRfeIfet % o 21
46. Both Foreign Direct Investment (FDI) and
Foreign Institutional Investor (FII) are related to
investment in a country. Which one of the

following statements best represents an
important difference between the two ?

IAS (Pre) GS 2011 Paper I

14

YCT




yeay faeeft faer (FDI) dem WeemEa fagwr
fraomes (FID) St &, forddt <or & fraer @@ g
g1 frmafafaa & @ -9 wo= 1 & ster
T Wecduul f9ear & ' 3w e W e
AT B2

(a) FII helps bring better management skills and

technology, while FDI only brings in capital .

FII e e ST FH
A # Teras §, ek FDI a1 $o e 3T &
(b) FII helps in increasing capital availability in
general, while FDI only targets specific sectors.

FII =95 &R T S Sqeiesa i s 2,

At FDI &1 ot e R a5 o Qi 2 &

(c) FDI flows only into the secondary market, while
FII targets primary market.

FDI %ael fgdiae sk & =ferd g 8, Sefeh FII
1 e Sl o @il 8
(d) FII is considered to be more stable than FDI.
FDI & qeil & FII 3 el arr S @
ST~ (b)
e — g foesft e (FDI) @or deemm faeef
fave (FII) 2 & forell 391 & frawr 9 g @1 FII
=% T W o SUSHdr dgH § GeEd 2, Sl
FDI #1 @&d ®da fafme &af 7 diftd @ar @ 2 &
a9 # s &1 ga9 =8 <0 9 Fad
T 21 ffds Frer S Hr@H, g, §oia aeqe g
IR TTEHT Tt &5 H ST 9 o € af 39 Sede
fogelt doft faer e S 81 YA 9 YER &
fraer sgmfla sl g fFw S §1 I (SRame
foeft fraen) fdias aom & & qe7 w9 @ =iferd g
21 39 BN FYT (b) T 21
47. With reference to Aam Admi Bima Yojana
Consider the following statements :

3 2Tt ST T & wed ® fefertae
HAT W e FifT
1. The member insured under the scheme must be

the head of the family or an earning member of
the famlly in a rural 1andless house-hold.
T A & ST Mg A e T g
F IRAR &1 GREaT 3791 FH1S T BT AT

2. The member insured must be in the age group of
30 to 65 years.
S A 30 ¥ 65 F Mg a7 g1 e

3. There is a provision for free scholarship for up to
two children of the isured who are studying
between classes 9 and 12.

IS § S e ok FE9 12 & a9 T8
® A T 7% & T e sEgh 1 g 8
Which of the statements given above is/are correct?
Suger § ¥ BA-QURA-T e e /87

(a) lonly/ &ad 1

(b) 2 and 3 only / Fad 2 3 3
(¢) 1and 3 only / 3da 1 3 3
(d)1,2and 3/1,2 3 3

37T — (¢)

e - e W ¥ A Seares 5 are g
&t § 9l oRa’l #1 9mie e SeH W &
IRV § UH 7% 3 A S ASH 2 IR, 2007
Yy & T 2 g sfaia g gfe aRar @
Afgar a1 IRaR F ISR FH are T g, e
3F 18-59 I % WeA §T| TH ASHI h dgd ST U1 Hebal
21 o et & ot ¥ 124 e H Ugd At & et
T s 100 F9C A BEIF G S @1 e
FUT 1 T 3 T EI

48. Among the following who are eligible to benefit

from the Mahatma Gandhi National Rural s
Employment Guarantee Act ?
fr=taraa

e ¢ agrer el we wrdor
AR TR rfufram’’ & siarld oy yra &
T U §?
(a) Adult members of only the scheduled caste and
scheduled tribe households

FaA ST ST SR ST s Ifawt &
ERIEIRIEIS

(b) Adult members of below poverty line (BPL)
households.

& W1 ¥ | % (BPL) 9RAN & 99 9as
(c) Adult members of households of all backward
communities.
ooff freg 9erl & el & T Te=
(d) Adult members of any household.
foredt ot oRar & e gaw

3T - (d)
e — ‘mere et ufE amfer Jem TR
R % ded wafa Rl & gefor el § weten
U & Ush W& Rl a9 § &9 T F7 100 &
wmwmﬁwﬁ T 21 39 A B
AT FEEA Sf. AR f4R 9 2 wEd, 2006 @
Y WY F AR B T Rl wd W F
Frataea & forw =afa 200 fe § 38 150 e wmfe
g, &l ®M % 98 USHR FEHA T8l § I @ 91,
P & T IS ASHT g FEgul AT ISR AT
1 foer o/ 39 7% AT H e e @1 1 e,
2008 ¥ 3 FSHT S TRYUT 39 § @] R @ g

49. When the annual Union Budget is not passed by

the Lok Sabha./afg afies Heffar sste Taa«T 5T

e @ g, d-

(a) The Budget is modified and presented again
F9e H A FR A AR U9 foRar ST @

(b) The Budget is referred to the Rajya Sabha for
suggestions

A 3G SIS TSI FI A =T @ 2

(c) The union finance Minister is asked to resign

e for W5 § @9 29 & foTT T S @

(d) The Prime Minister submits the resignation of
Council of Ministers

T SO A aREg S T 9T T T 7
I - (d)

IAS (Pre) GS 2011 Paper I

15

YCT




AT — 5 WHR i Tod Hifd & Th AR
&9 21 gUR Fgl Ao WM dR W S R o 2
i O FUH AEYISF TN G g e gfvad
ot S @ 3R gl At Sve g U 9" S
T R ffar s 21 Ak affs g awe
TAHHAT T AL TRA G & A SHBT A & o TR
W?%WWMWWWW
FT @M 7

50. What is the difference between
account” and “1nter1m budget” ?
gaa sfrer s 3t §7
1. The provision of a vote-on-account is use by a
regular Government, while and interim budget is
a provision used by a caretaker Government.

T GUHR TRIMAIE & STEEE B TA B

‘‘vote—on-

Sefs FddEs TWHR AT soie & TEuE H

T & 2

2. A vote-on-account only deals with the
expenditure in Governmenrt’s budget while an
interim budget includes both expenditure sand
receipts.

TEHR & a9 & =T T A9 § TG
g1 8, vefh ARW Soe ¥ =g qur stadt ae
gfefed 2 &

Which of the statements given above is/are correct?

ST W ¥ RA-AI/RH-T wAT TE /R ?

(a) 1 only/ &aa 1

(b) 2 only / e 2

(c) Both 1 and 2/ 1 31X 2 &t

(d) Neither 1 andnor 2 / 9 aleiRaTd2

37X — (b)

-3 116 (F) & FATd AHI AN A
TR X THR & T Th 1B TR HR B FeA €,
9% IR § aoie R 391 TSR % fow gwe T8 ¢
T THR F a9 &k 2 T Y TEg o 81 sahw
Ivie § =9 o1 ot 2 gl g § dr 9% e
¥ 7@ FraRs WER g a4 99 & a9’ |
BT AT T THR G T el ST Febel 2|

HY, ITNT TE IR
(Agriculture, Industry and Trade)

51. Which of the following can aid the furthering the
Government’s objective of inclusive growth ?

TN & ghg e B I o W F
frafafgs & @ SF-GU/aE-0@ wE gEEw
‘FITI%H‘@W%
1. Promoting Self-Help Groups
TR WY (Fe-27T ) F e

2. Promoting Micro, small & Medium Enterprises

TeH, @Y SR AW ST
3. Implementing the Right to Education Act

e =1 HAfFE A HTET

Select the correct answer using the codes given

below : .
el o MUR W T ST FATC

(a)lonly/gv_fﬁfl

(b) 1 and 2 only/ Fae 1 3R 2

(c) 2 and 3 only / &aet 2 3 3

(d) 1,2 and 3/1,2 3 3

ST —(d)
T — qHEfE fomre o fore seenar & fored
3N fas &t 3e9 ) ¥ S TET o & faawer §
IO % W HAS 9 & oA h S fewmm
31gfq TFE 3 @ Rame = #3181 TR
& GUEE gfeg T F A o I & 0 E-HerE
q@(ﬁm%@g@)ﬁmw e, Y 3R
qeq STl Bl Wieded a1 agr fRm & SRR
sfaferes ar #6794 1 GeEs Qi & G §

TR/SfRT Td T WUTell, e e o
W= (Monetary, Banking and Taxation
System Center State Financial Relation)

52. India has experienced persistent and high food
inflation in the recent past. What could be the reason?
A o qul § WA Eaiele]

W%lgﬂ%wmz‘rmﬁ

1. Due to a gradual switchover to the cultivation of
commercial crops, the area under the cultivation
of food grains has steadily decreased in the last

five years by about 30%
SRR afvroass wael #t B ;333
FOT @rEE B H e A ue aw § @R
e gU ST 30 Wi 5 T 2
2. Ass a consequence of increasing incomes, the
consumption patterns of the people have

undergone a significant change.

TE T AT F BN % 3udm oy H
TEEqUl UREd T |
3. The food supply chain has structural constraints.
B, el § %2 TS Y €
Which of the statements given above are correct?
e ® ¥ i | HYT T §?
(a) 1 and 2 only / &aet 1 3R 2
(b) 2 and 3 only / Fad 2 3R 3
(c) 1and 3 only/ eet 1 3R 3
(d)1,2and3/1,2 3 3
ST —(b)
ST — 9¢1 8 3T o HRUT ANl o ITANT Hfowy §
Tequl uRady e €, frad @ whify ot 3= g 7
Wﬁm%aﬁfﬁﬁwaﬁtﬁ@mwﬁ%m
T G awe @ A A fEen § $Ees
Y TG 2|
53. Which one of the following statements
appropriately describes the ‘‘fiscal stimulus’’?
g ¥ &H-91 w3
Tt T AT AT &7
(a) It is massive investmen by the Government in
manufacturing sector to ensure the supply of

goods to meet the demand surge cause by rapid
economic growth.
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TE THR N IEA & § A e geg e @
fSroen oer wret &t e X fg i fowm &
FT T gE HIT B YT BT &

(b) It is an intense affirmative action of the
Government to boost economic activity in the
country.

Tg WHR I e FveEs wrEiar @ REe
e A7 H onfle TffafeE @ aerr 3 8

It is Government’s intensive action on financial
institutions of ensure disbursement of loans to
agriculture and allied sectors to promote greater
food production and contain food inflation.

Tg THER W forfg Sl | o# W M
AT & T e P T4 Hews & P B
foafa a1 ¢ S99 ge W 3eT & Weea
foret Wb R W THfT W HHe T T

It is an extreme affirmative action by the
Government to pursue its policy of financial
inclusion.

Tg TWHN H =H s srEaw @ e
e forcfia wAme AT F1 I T 7
ST — (b)

T TR 3ORE WHR F Teq fy=rarers e
3 Rrge o 29 § anfe el & agEr 3 21
TR T 38E A yfegqawen & 44 ¥ IR ga
o §e § g9 & fow weM fRar ST 21 s9%
sfmfa srdeaeen & faftm &l & ot @ s=9H & fog
fordfta Sicared oM R ST 2

54. Consider the following
Government can take
oo &Y S WYeR I e o weRd -
1. Devaluing the domestic currency.

TR & H e
2. Reduction in the export subsidy.

frrafdl @1 firer arelt s T § Herd

3. Adopting suitable policies which attract greater
FDI and more funds from FIIs.
Which of the above action/actions can help in
reducing the current account deficit ?
37 ITgE A B A F R dw i o
FDI 31T @ Flls § 31 ffdr e
Which of the above action/actions can help in
reducinﬁthe current account deficit?

-t feram/feramd =me] @ & ure
F T wETTe W & e 822
(@)land2/1 32 (b)2and3/2 3 3
(c)3only/ Fda@3  (d)land3/ 1 3R 3
I - (d)
- 91 @ &l 52 & {0 e 51 &1 sTaead
IR 3 Iug A B ey e e 3w e
FDI 3T FlIs § 2ifaes ffy oy, genfe st 5
TEHR G S Fhell B
55. A rapid increase in the rate of inflation is

sometimes attributed to the base effect. What is
base effect ?

(©)

(d)

actions which _the

w

ThHITT g | B9 arefl g gleg o1 e whefi-

&t MR gura’’ (base effect) U TEET SATGT

BT e yara! R €2

(a) It is the impact of drastic deficiency in suppl
due to failure of crops./J8 HHA & TS & %
YR # 3 I ST T 99 2

(b) It is the impact of the surge in demand due to
rapid economic growth./ag g e o %
R TS § qg W AT I &

(c) It is the impact of the price levels of previous
year on the calculation of inflaction rage.
Iz form ad & FHal F T @ BT |
1T 99§

(d) None of the statements (a), (b) and (c) given
above is correct in this context.

mwﬁﬁmﬁaﬁ(a) (b) TUT (c) HH B T F7E
o wE T @
ST - ()
ST — 3TER Y99 I3 & SAHe| H1 a0 iwel A
M1 W U ATt S9E H Fed &1 Wiy ) H gfg *
Hed # form au & Adl F FOAE i & 0T
TR ST JAE & SR 39
Nominal (or current prices) GDP
Real (or Constant prices) GDP
56. Which one of the following is not a feature of

Value Added Tax ?
frafafaa & @ ==-df ‘gea emumRa &

(i e Ser) o fersear < §7

(a) It is a multi-point destination-based system of
taxation.
78 Sg-fag o SR s (SHFIT) SoTTelt @

(b) It is a tax levied on value addition at each stage
of transaction in production-distribution chain
T8 I/ fATOT @ § @ed & & W § g
Tg-Had 3 R T A () 2

(¢) It is a tax on the final consumption of goods or
services and must ultimately be borne by the
consumer.

T8 FEqel qgn Hanel W IwEn & SHfem wwor §
qME T A () @ e @ed s
U HI BT TA 7

(d)It is basically a subject of the Central
Government and the State governments are only
a facilitator for its successful implementation
Tg god §9 ¥ F% WX F A9 & M ToT
TER F AGE T FBeId & WT AN F qH
T 2

I - (d)

AT — “Yod R W Fg-foig o UG T

Yol 21 3TH 3eared,/ AT e § oH-a % & WOl

¥ gU god Gada W B oA S @1 qg awq qo

[t % Sifqm ST W e T W, e ae

T IUHTFAST I HEAT T 2|

GDP Deflator = x100
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57. Micro finance is the provision of financial
services to people of low-income groups. This
includes both the consumers and the self-
employed. The service/services rendered under

micro-finance is/are ;

geu-fa i) fore ey &t o =afeRmat
& fou fadfio Qe @1 yaa= war g 9g
Yot IureRTe iR WA # g2 sfea
1 R Wed st W €)1 gau-foe & siara St
Fer/AaTd SuCTsr i W ¥/, 7% ¥ E -

1. Credit facilities/30T gi%rm

2. Saving facilities/sdd g%rarrq

3. Insurance facilities/aHT W

4. Fund Transfer facilities/f&r 3fawor W

Select the correct answer using the codes given

below the lists :
[ o TR WX W& 3T T

(a) lonly/éﬁﬂl

(b) 1 and 4 only / a1 3 4

(¢) 2 and 3 only/ e 2 30K 3

(d)1,2,3,and4/1,2,3 3 4

ST - (d)
e - a9 w9 9 afgenstt @ o
fordt TUfyds MU & @ g Tafafri &
TareTd T g Sueis BT 9eW R el g |
e ford % AT S YayHaTd U S S § T RO
gfagrd, F=q gfoed, & giaed qar A s
gfewmd £
58. A company marketing, food products advertises

that its items do not contain trans-fats. What
does this campaign signify to the customers?

FER- T U wut T o
AT & or 3ok Sarel § ie-aun (giathed) e
Bt SH 30 MU o1 Suieneil & fog e
arfirgrer 87

1. The food products are not made out of

hydrogenated oils.
ga 3ER 3R BRSISHIPT dail § Fai ffda

EQ Gﬂﬁ|

2. The food products are not made out of animal
facts/oils.
FO F SRR SR U I FEY dal §
ffia foru S|

3. The oils used are not likely to damage the
cardiovascular health of the consumers.

FO F BN OWIE dd SWEqA gl o
FEaIfesh @A Fi &fd F& A

Which of the statements given aboveis/are above

HIT-FV/RT-T HAT T 87272
(a) 1 only / e 1
(b) 2 and 3 only / FaaT 2 3R 3
(c) 1and 3 only / &&el 1 3 3
(d)1,2and3/1,2 3 3
3T — (¢)

AT — BN IR & fa%d § 27 TH & T8
forgfta et 2 76 Sush sl & 2ig aar (giatey) T
B, o FE FEA SYAES B Fe ah e 8 b
IUH SRR I FRSSHIGT dall SR T Ieoo Fg/Aeh
¥ ¢ fAfifa fpw < |
59. Regarding the International Monetary Fund,
Which one of the following statements is correct?
LE & ey
HIT-|T HAT TE §?

(a) It can grant loans to any country
77 I FT F&H B FHAT

(b) It can grant loans to only developed countries
B [ Sl 0T Y& L Gebell &

(c) It grant loans to only member countries
7 hael TEH S 1 R TG FHT 2

(d) It can grant loans to the central bank of a countr
77 fRel 391 % HLF A B FIT T B Fehal

ST —(¢)

HTEIT- GW@H q HY (International Monetary
Fund-IMF) T @ifia difsd a4 21 seiqsd
e & T WO AR, 1944 F
afirTe (emfa) | g8 | I8 Faa 9aed M H B

YoM F 8, R ST St M Tqor 3 & T |
60. Why is the offering of ‘teaser loans’’ by

commercial banks a cause of economic concern?
EL G -

RUT (TSR ) &=l T T 3TeR forar a1 feroer €72

1. The teaser loans are considered to be an aspect of
sub-prime lending and banks may be exposed to
the risk of defaulters in future.

TANH-H1E T (TR @A) T (HE-TEH
AfET) W & TF ® G I § ad AR B A
Siftgw e @ fo wfoss & 9% =0 g 7 &

2. In India, the teaser loans are mostly given to
inexperience  entrepreneurs to  set  up
manufacturing or export units

[ As-gquEd ® FSR aF) g
SWEEH IafEl # Sre wedh srear faafa
T wfid w3 & fore fiu s §
Which of the statements given above is /are correct?
i -T/HH-T HAT G 27

(a) 1 only / e 1

(b) 2 only / a2

(c)Both 1 and 2 /1 3R 2 &t

(d) Neitherl and nor 2/ 9 dlemad2

3T (a)

- Ao S 51 RE S 9t T @i garea

W(TeaserLoan)%GﬁWéﬁmﬁw%EﬁﬂiﬂT%

A I &FHAT qAT 3T AR HI O TAE W g TG

fhr S &1 ¥ WOl W OORE 9ot § W # R

EHYF €T T FH Wl & 791 a& F a9 F 95 A 2

61. Economic growth is usually coupled with
AT

(a) Deflation / STaHIf & @1

(b) Inflation / THfT & T1Y
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(c) Stagflation / CIFRAYE & 919
(d) Hyperinflation/3Thif & ey
37— (b)
AT — U1 THIT A1 T JOR 98 Fawe § fored g
& g iR S ¢ 3R #d 9 S &)1 i gy
it wd freif e wifa eteufomiaa stdereen g
TS BT & MG T IeqeA § g Bl B
62. The lowering of Bank Rate by the Reserve Bank
of India leads to
Seh o Sk o HH HH & Herawd
(a) More liquidity in the market
IR &1 AT I S 8
(b) Less liquidity in the market
SIS %1 Al 9 St 8
(c) No change in the liquidity in the market
TR ! TeAdl W HE T96 A2 T80

(d) Mobilization of more deposits by commercial
bank

3T (a)
T — 9T R5d o% g o% & &7 & o4 &
ey a3 aleTd] 9¢ Sdl 21 9 & # el i

IEYT T AN T H FH F H GG T&E HET
g @ S S § SUR I SiedTed 9w il |

UR T Ty SR e 3nfées Wied, 9w
ot (External Trade of India and
Economic Organization, Share Market)

63. In terms of economy, the visit by foreign
nationals to two the XIX Common Wealth Games
in India amounted to

& e # XIX UgHEe et

o I & forg faraeft AmTiReRt @t v § e

(a) Export/fafa a1

(b) Import/3AT™Td AT

(¢) Productions/3cdTa &7

(d) Consumption/ YT o

ST (a)
AR fdE fpampam & ded # XIX guved
gal # 2@ F fou faesh it & awd § e
frafa om 199 Ugwved W 3-14 TR, 2010 H
IRG & 7% fieeh § THF gUI 9RG § Ugel IR ST
Tq UPHSA WA § 17 Tl # 260 WSist § upHved
T HeHT ¥ §2 71 I F AN 91 g9R et
F o ferm 39 dEd & fou fageh At @ wra
e frafa & fdfa A SO 39 S ¥ S &
W 3 Wed & Sidid A S el o & sidd
gy 3 g1 faid § gvg owqd, dand qor fawen #
fafera & ot e gt 21
64. With reference to India, consider the following

Central Acts :

W o dad # frefafaa =i et w

feramt wRifeT -

1. Import and Export (Control) Act, 1947.

2. Mining and Mineral Development (Regulation).
G g @i o (fame) safefem, 1957
3. Customs Act, 1962
R A, 1962
4. India Forest Act, 1927
ARATT & A=, 1927

Which of the above Acts have relevance to/
bearing on the biodiversity conservation in the
country?

e W W eE-u w3 ¥ Sfa-fafverar
TRRIOT S 31 W WEequl § STereT 56 W IR TE §
(a) 1 and 3 only / &ael 1 3R 3
(b) 2,3 and 4 only / &ad 2, 3 3R 4
(¢) 1,2,3and4/1,2,3 3N 4
(d) None of the above act
sfefererdt § @ i off 7@
3= ()
AT — 9RG § o9 fafgear @ # gfy ¥ gyt
e &
A& AfafEm, 1897
. IR a9 sfEfaEm, 1927
. G T @i foe (fEmE) 1957
G Yo AfRIfEE, 1962
st wd faafa sffaem, 1947
F 3crg (AfET R faur) sfufam, 1937
TAE Fie 3R foeg arfufam, 1914
Sl AR, 1965

Why is the Government of India disinvesting its

equity in the Central Public Sector Enterprises

(CPSEs) ‘ .

VR AR hld Waw(-eh & Sawt (CPSEs) W

it rot sfert =t fearfraer == & W&t 27

1. The Government intends to use the revenue
earned from the disinvestment mainly to pay back
the external debt.

TER A 3 & fafrew @ faa v &
ST A SO AR T H AH H FHET A 8

2. The Government no longer intends to retain the
management control of the CPSEs.
TEHR 3@ CPSEs & Yoo &l e[0T a7 grei |
TR T =

Which of the statements given above is/are correct?

Suge # W RA-AURA-T wuT @ 3E?

(a) 1 only /Faa 1

(b) 2 only/%ad 2

(¢)Both 1 and 2 /1 37 2 &M

(d) Neither 1 nor 2 /9 a1 eiaTd2

I (d)

0N LR W~

65.

a1 wd fyafa (e sffrem, 1947

AT — IR TR F& G- &7 3TH (CPSEs)
¥ onft eroht sfFdt o faftae = @ 21 3| gt
&7 o IUHA! & fafTee § 91w T 2005 # A T
frarer ffey & St @ o g Sagvg oS &7 @
aieemet # faw e 81 WeER gdats &9 %
IUHAT § TR H S, Sed HURS TEag a9
e R foreEor gefe s fafey % wga faeg §)
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wYferes TR (Physics)

66. The function of heavy water in a nuclear reactor

is to
ek e RueeT T TRl et a1 9T &1l il &7
(a) Slow down the speed of neutrons

ST A H HH BT
(b) Increase the speed of neutrons

=1 F T B F
(c) Cool down the reactor

FI 3T HET

(d) Stop the nuclesar reaction.

3T — (a)
T — T Avesg Rugel # 9 51 (D,0) 1w
:{zmﬁnﬁraﬁmwél TgeRem et zrfeam
H, & omgdidd €1 9l S emgion & gwi
gy (SZeRem) o SfeieH 1 Afe g
THHT GRS T 101 3 Ruish HERoT ST @ e
Ao gl B1 AR S % WA S
Rugedl o foIT sTevas TTesia A &AM o A
ITE % T Tewet i€, g S 71
67. What is the difference between a CFL and a LED
lamp?/HUwRTS (CFL) 9T U@ESr (LED) oiq o
T AT 2?7
1. To produce light, a CFL uses smercury vapour

and phosphor while an LED lamp uses semi-
conductor material.

TR 3TF HE & AU GUhTA gi-am SR
TrUeh T AN AT &, e TALS! AU e
qaret B I FAT 2|

2. The average life span of a CFL is much longer
than that of an LED Lamps

duea # fed Sfa-eafy Tl du ¥ a9y
feren Bt 21

3. A CFL is less energy-efficient as compared to an
LED lamp.

TRl o # qorr & fuwte 7 Hol-gem 2|
Which of the statements given above is/are correct?
PA-AVHT-T HAT TEl /87

(a) lonly/a')_'sl?fl

(b) 2 and 3 only / del 2 3 3

(c) land3 / ae 1 3R 3

(d)1,2and3/ 1,2 3R 3

3T — (¢)
T — YU (HiHdae FAde oge) § i am
T e R WA e S R S @ R
o & Wwﬁﬁnﬁmﬁiﬁﬁwﬁwﬁw
S 21 TSl (g WHET SES) Wl # qRefis
AGAAS YHNT S SHEISl, SN Tosel AT
UTefiT erdSt dehish &1 ST @il @ | Huhue & 3iHa
FEHA 6000 T 15000 S T H T ¢ SATH TASET
] GE: 25-30 G d 9l Gehdl B

A f&@= (Chemistry)
68. Consider the following :

T TaeR shitaT —

1. Carbon dioxide/E SRS

2. Oxides of Nitrogen/ATE2IS & TS

3. Oxides of Sulphur/Ieh & 3TTFES

Which of the above is/ are the emission/ emission

from coal combustion at thermal power plants -

[ ¥ RE-GU/RE-T Sedsi 3'8511

HEl W RITAT & & Sedtster giar 8/ Bl 872

(a) 1 only /Haa 1

(b) 2 and 3 only /Fad 2 3 3

(c) 1 and 3 only /e 1 3R 3

(d)1,2and 3 /1,2 33

I (d)
AT SHA W G § S 8T & RumEEy
T SEHFIEE, TS & SRS, Too 5 NFaEey
T ARSI ST STl S & st Bl 8|
69. Regarding ‘‘csarbon credits’’, which one of the

‘flollowin%égements is not correct ?

¥ deig # PrefafE § 9 ®6-
AT HIT TE T §?

(a) The carbon credit system was ratified
conjunction with the Kyoto Protocol .

FEd HES YU FE Welhid & GaASH G
Ty @ T oA

(b) Carbon credits are awarded to countries or
groups that have reduced greenhouse gases
below their emission quota.

W%@zwé@mq@aﬁmﬁwﬁésﬁ
fi9-g=9 TG & Ieqsid TR IH IeqsiT =Y
% e o I & §

(c) The goal of the carbol credit system is to limit
the increase of carbon dioxide emission.

FEA hiSS H AT FE SRS Icdsid |
& W@ g W SiHw o @

(d) Carbon credits are traded at a price fixed from
time to time by the United nations Environment
Programme.

FEA e N HA-fakd HIE TP wAfER
FRIFET & F THI-9HT W fEd [ & SER
T T ST 8
3T - (d)
ST —FEA Hec el & 3R 5l <o § 3uas
JAA & STTER 39 < & 5N HFT T At A Fed
SogeiAt 1 feitor B ST @1 @A Hfee yomed @ e
TR & 3l TeReT § S Scasl 31 9 A
for any feper T SIS AR # @A #fee &1 wa-
o 39 oA ST Yt & STER e S g
70. Aspartame is an artificial sweetener sold in the
market. It consists of amino acids and provides
calories like other amino acids. Yet it is used as a

low-scalorie sweetening agent in food items.
What is the basis of this use ?

in
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TR ¥ e aren TERew FM "R ¥ U

THAT At | ST BT § AT 3T Wi 3Tl R

U & FA yEm war €1 R ot aw e

ueredf W U helkl Weleh o &0 H FEATSr Bidl

T SHeh TH TEIATS T T MR &7

(a) Aspartame is as sweet as table sugar, but unlike
table sugar, it is not readily oxidized in human
body due to lake of requisite en%nes.

o WM A for & g g, g
i % foofd o8 ae R F oevas e
& o1 % T Iy SHefipd T & umr

(b) When aspartame is used in food processing , the
sweet taste remains, but it becomes resistant to
oxidation.
e R FEEHT § S gl 8, o
SHH ST WE A S @A 7 g a8 SR
e & ST &

(c) Aspartame is as sweet as sugar, but after
ingestion into metabolites that yield no calories

T A RO @ g a8, fhg W A
SR B & % U F© UY TSl (HEeey)
¥ uftafdd & S @ S @ S T S

(d) Aspartame is several times sweeter than table
sugar, hence food items made with small
quantities of aspartame yield fewer calories on
oxidation.

oy g A F FE T s e @ g,
I AT T TR H o4 g uard iR g
W A FAd T F &

3T - (d)

W—@%ﬁwﬁﬁaﬁwgﬁnw%ﬁ?
=T == A Ell T T A Hiar
%|aﬁzﬁw@qaﬁa§ﬁ$mwﬁgwwm
F fow i 1 safee sus Sk s g 2

T 1%|3-|'F-T (Botany)

71. Regular intake of fresh fruits and vegetables is

recommended in the diet since they are a good
source of ant oxidations. How do antioxidants
help a person maintain health and promote
longevity ?
AMER ¥ fafia 9 & aF %het 3R wissrat T
HAT qBAT ¥ R T SAfaRfiewur qeft
(antioxidants) del & I Eid Ed &l
NferfteRtoT-Tieft aear aferT & T o @ 31
druig e ¥ fre YR weEes g B €7

(a) They activate the enzymes necessary for

vitamines synthesis in the body and help prevent
vitamine deficiency

T YR H 39 TomAl B WfRT R 30§ S
el & wvomw F fu smavEs @ & R
forerfo-gimar 78 8 2 # #eg i §

(b) They  prevent excessive  oxidation  of
carbohydrates, fats and proteins in the body and
help avoid unnecessary wastage of energy

T TR § FEEEge, a9
ATeFfiRToT I T & 3N sl Bl SAETEAS AT
39§ g9 § WeE F §

(c) They neutralize the free radicals produced in the
body during metabolism
T IR F T F IR F ®9 H IS T
Tereht i fafshe s |

(d) They active certain genes in the cells of the body

and help delay and ageing process.
T WR T FeHE § o T F AHT B T

3R g F fFa Fi facifn &0 § 7eE F &
3T — (¢)

T - AER § @ 1 9 a9 b i gfemat
TEUT HET ST 8 e 3 i T8 d@l &
=S Eid B 31 Sde-U d s & ey o
T 3R 2§ Ters fag 2 € it 3 wiw §
TATET H & &0 § 30 qad gahl AR
A B ST Uh qHEte st 2 e
FoFEl H AR 58 uard ¥ sffefieRe uSie H
B 21 i Al % ofvrEeT T e
I & T & S g BT Fi it wgeae are
ST AT AT 8wl 2 |

qa fafear faa= (S faa™) (Zoology)

72. When the bark of a tree is removed in a circular
fashions all around near its base, it gradually
dries up and dies because.

EE] FT A BTA, I o MR & 0T F
MeATRR TR T & geT &t Wl §, O 9% 987
efR-efit g o oY wImar §, St
(a) Water from soil cannot rise to aerial parts

TR I gE S A8 wge
(b) Roots are starved of energy

SIS el § e @ S 8

(c) Three is infected by soil microbes.
a1 gar-SHeTge | Hehld @ Sl @
(d) Roots and not received oxygen for respiration.
SEl F1 vaEA g SRS et I & are
3= (b)
AT — Hag Tedl § & SHR F sk ¢ T § -
TAH 3R SEeH| T Rl ge % B Ged

AR R A 21 TR 1 S HYATT
sferar & fafda et 1 qReed &
21 981 % MU & TG § MR I/ wWh § R ger

® B febred a4 Wl o e 8 s e
ey S Heel ol 1 ufeka § ufoRll g
NS T el d% A¢ g Tohdl ad1 9 et § dfed
@ SO R get fR-fR g@ B g & S|

73. A married couple adopted a male child. A few
years later, twin boys were born to them. The
blood group of the couple is AB ositive, and O
positive. B positive, and O positive. The blood

roup of the asopted son is
%éﬂ@éﬂé%@waﬁﬁamlm
TS q6 IUAA 3= qoaT I gUI qufd | T T
T T AB UiSiifed § iR g @1 O wfifea &1
A G W W e @ AT A Tisiited, gEt
B ulsiifed, 3R iy &1 O uisfifes &1 e fog
W G hT TorT T BIA-TT &2
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(a) O positive / O dfsiifed
(b) A positive / A Fisiited
(¢) B positive / B Gfsifea
(d) Cannot be determined son the basis of the given
data.
I AFHRT & IR W Fgl Fal S Fehall |
ST — (a)
AT — FAVIH FA Avs WER 7§ 1931 § 7
F @ H A at § afer a1 3HE g LT qo
WAl I AT F W § G ot & off g @ e
T % TR S AR A # sler w81 A € - eRR
A, R it B, ¥RR af AB @1 R awf 01 i (M=
T gu) T &1 W vt O wifsfed @ Fifs aAi
T UF & & a7 AB uifSifea td g @1 O ffea g
W 3 a1 T & Wa i A uivfea, B fmfea &
AB Tifsfed gl
FHi, T T ST

(Agriculture, Livestock and Dairy)

74. At present, scientists can determine the
arrangement or relative positions of genes or
DNA sequences on a chromosome. How does this
knowledge benefit us?

FAAE AT Rt UGS § i gehTsal

fome stoen ARt WfaeR feafa steem &t

TAT. 3rgehul & fuifta X Wehd €1 I8 I

TN foe fof wehr Swarh &2

1. It is possible to know the pedigree of livestock.
IHF! AR § e P TG A ST bl 2

2. It is possible to understand the causes of all

human diseases./39& #eg ¥ | AFG U &
FHHT FI & Hhd ¢ |

3. It is possible to develop diseases-resistant animal

breeds./39H Weg ¥ Wpﬁ F T T AR
& T w2

Which of the statements given above is/are correct?

Suded # | HIF-9I/RHA-T ®Hew T/ §?

(a) 1and20nly/av_clﬂ 1 3R 2

(b) 2 only /Fad 2

(©) 1and30nly/a'>_°|3f 1 33

(d)1,2and3 /1,2 3R 3

I (¢)
- AT THA H TEEW § Rl &
FmaferE # S § weg ferd 81 59 ifaRed fafim
WESITE doT Sl 1 3TeTHdT U 30 3cqd Qi o el
B Al 2 FmfEl B FROT FA F AR ITEAR 9T
2 el 71

wed /Computers

75. What is the difference between Bluetooth and

Wi-Fi Devices?

ICY (Bluetooth) TT TAE-WTE (Wi-Fi) & st

T I §?

(a) Bluetooth uses 2.4 GHz radio frequency band,
whereas Wi-Fi can use 2.4 GHz or 5 GHz
frequency band
<2d 2.4 GHz ed-amgf tee g & @
S@feh aE-%1 2.4 GHz 3¥9a1 5 GHz 3Mgfd wee
SR ST WAl ©

(b) Bluetooth is used for Wireless Local Area
Networks (WLAN) only, where Wi-Fi is used
for Wireless Wide Area Networks (WWAN)
only.

TEY Had AR WHEE & S (WLAN)
TIH HIAT &, b AE-BE Had daR A
&1 ST (WWAN) ST el 8

(c) When information is transmitted between two
devices using Bluetooth technology, the devices
have to be in a liner of sight of each other, but
when Wi-Fi technology is used the devices need
not be in the line of sight of each other

T sy SN YA o R & SuHTl & A
e v &t S @, a9 S Sl & g
TR W g B a8, fh o -
Frefieht yam § o S € q9 Q4 Sumw
L T i | L EEA T I CRRC e [

(d) The Statements (a) and (b) given above are
correct in this context

79 gad # (a) T4 (b) SFI HIT T €
ST (a)
AT 2 2.402 GHz ¥ 2.480 GHz & & § e
Pl Wagd I TAN HT & Sl aE-Brg [EEE 802.11
Wued I MmRa WA 8, B 2.4 GHz, 35 GHz 7
5 GHz i€l Serzw &1 YA fhan S 21

76. A new optical disc farmat known as the Blu-ray
Disc (BD) is becoming popular. In what way is it
dlfferent from the tradltlonal DVD?

fewh =1 o , S wr—% fe=r (BD
st ) & = | A= e e @ T 17w
WA SiiSt (DVD) § TR yerr Tt 37
1. DVD supports Standard Definition video while
BD supports High Definition video.

et A aRa fafear (R Sfpem fafear)
' gAfd e 2, efs i< Iew uRamn fafed
(&% Sfrrer fafea) #i wwfea & 2|

2. Comapred to a DVD, the BD formate has several

times more storage capacit
ST & qor | et u»‘élz F ASHOT & FE

T S 2
3. Thickness of BD is 2.4mm while tha of DVD is
1.2mm./5ﬁﬁﬁﬁ2é 2.4 mm %\, Safes S &

rﬁz‘rs“ 1.2 mm %I
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Which of the statements given above is/are correct?

HF-H/R-T HAT & 2727

(a) lonly/av_cl?'fl

(b) 1 and 2 only /&ae 1 3R 2

(c) 2 and only/év_chTZ 3N 3

(d)1,2and 3 /1,2 3R 3

3 (b)
TET — -1 foih el il o skt fowh € o
ge v difedl &1 w9l s g1 S T
ARIHH 47 GB SRT HI TIEUT F Thdl & q4T Tehed
U el 52 fe%F 25 GB ST UHHA X T 21

forsr= drenfirant (Science Technology)

77. Satellites used for telecommunication relay are
kept in a geostationary orbit. A satellite is said_to
be in such an orbit when :/THIR THRUT
I SUTET et -HYITHT wem § W@ A g
Teh SUUE UHT sherm § a9 giam § o
1. The orbit is geosynchronous.

eI -qeHIeT el 2
2. The orbit is circular /&I IR 2t 21
3. The orbit lies in the plane of the Earth’s equator.
el GeAl 1 [Eed W1 % g Bl 2|
4. The orbit is at an altitude of 22,236 km.
el 22,236 Km &1 71 T gl 8|
Select the correct answer using the codes given
below :

frafafea Fet & aR W T I I

(a) 1,2 and 3 only /&ae 1,2 3 3

(b) 1,3 and 4 only /&9 1,3 3 4

(c) 2 and 4 only / Faet 2 37 4

(d)1,2,3,and 4 /1,2, 3, 3 4

ST - (a)
T — ﬁmﬁm{mﬁ?ﬁésﬁgwﬁ
T 3@ & THAC BIl 8 a7 J-qeaepiiersh el JaThi
Bl 81 3 B 1, 23941314-@%

78. Microbial fuel cells are considered a source of
sustainable energy. Why ?

kit RIIHTT (VTSRS I el

ol T Ui (W) Ed ausit At )

w7

1. They wuse living organisms as catalysts to
§enerate electr1c1ty from certain substrates.

F &7 H T W D

Il ¥ ﬁg‘«ﬁq IEqE B bl B

2. They use a variety of inorganic materials as
substrates. /v} fafee YR & F B
# g F E

3. They can sbe installed in waste water treatment
lants to cleanse water and produce electricity.
S F I & fou
UM St W eE § T S o §
Which of the statement given above is/are correct?
U # W RH-AU/HA-T HAT T Y E?
(a) lonly [Fad 1
(b) 2 and 3/Fdet 2 3 3

(c) 1and 3 only/aﬁl?f 1 33

(d)1,2and 3 /1,2 3 3

ST —(¢)
TIEAT — Ged Sifgeh o (ARHIEEA FA Yel) S|
Rad-a gage § ITaed TEE-S el & Gy fagda
ot & ufefdd #3081 T, Uh. @ (Al T
) F T IR F HE e W A S 8
Fifh TEH S gerd S - , T, THieE,
wr wrfe, B, ﬁzﬂqw&wg%mﬁw
ﬁﬁ%lmaﬁ@mﬁmwﬁéﬁww&ﬂ
AT F &9 T4 el |

79. The formation of ozone hole in the Antarctic
region has been a cause of concern. What could
be he reason for a formation of this hole

8% &1 a==r foar &t
T €1 30 5% & o T HTfera RIROT 5T 7
(a) Presence of prominent tropospheric turbulence,
and inflowof chlorofluorocarbons.

fafere # suferfd,  dar
FAFA e T 3cfaie

(b) Presence of prominent polar front and
stratospheric clouds, and inflow  of
chlorofluorocarbons. ]
fafsre A I GHAIESd SEel

Sufefer; q91 FAUFAY Hleil b iaaie
(c) Absence of polar front and stratospheric clouds;
and inflow of methane and chlorofluorocarbons.

gEE A q9T GHAIHSd aeal i ST arefd;
T BT SR FARFARIBIE H1 SHeFatg

(d) Increased temperature at polar region due to
lobal Warmmg

A § ygaia yew § g5 e i
ST - (b)

AT — 3iThih & H S &g H1 a1 & &
for 2, 3@ % F 994 @& gwife Fwor R gEm
A qAT GHATIHS T dTel o SUfCf T FArvr
F1eit b siadarg 21 ydtT THAHedE Sl # Sufe
TE(EH T, FATFANHEA T MAHAT L FAT
fofor shear @ St fo6 ST WX o SebreT Tt faTer
F foTT SoREr &

80. The jet aircrafts fly very easily and smoothlys in

the lower stratosphere.What could be the
appropriate exsplanation ?

i # S fe wga
amart R fafferar & WY 3T WEd §1 SHaT
SUTET TSR T &7

1. There are no clouds or water our in the lower
stratosphere./SHATIHES & T | @R a
S-ard T g |

2. There are no vertical winds in the lower
stratosphere

FHAIHS & e 90§ FeEteR ged Fél 8|

Which of the statements given above/is are
correct in this context?

39 "o ¥ Sude ¥ ¥ RA-AURE-9 wYT 39
/e SUTFeRT TR §/87?
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(a) 1 only/ Faa 1

(b) 2 only/&ad 2

(c) Both 1 and 2 /1 3K 2 &t

(d) Neither 1 nor2 /9 @1 1 3R T & 2

ST —(¢)
ST — 9HAY Hed o fAad 9 § S fqme agq
mﬁaﬁiﬁ%mm%wa—s’méa?ﬂﬁsmlﬁﬂﬁ
A S - oM, aeel @ e, feel @ %e,
Wwwwﬁgﬁq@@mélwmﬁ
32 Foll. @ 3 % 21 39 ed # aE @ S fEe
I i avest T wE S 2
81. What is Virtual Private Network

STt T E?

(a) It is a private computer network of an

organization where the remote users can
transmit encrypted information through the
server of the organization . )

7 fopelt e o fsht shogex aftey @, foed

I3 WA "I F URAVR (W) & WA
T 4 G €

It is a computer network across a public internet
that provides users access to their organization’s
network while maintaining the security of the
information transmitted.

g fslt et W oA ol uRuy @, S
TS FT S T % wRu § 6 9 H
gﬁm%ém%aﬁtﬁﬁﬁa%w@rwﬁw
T

(b)

(©

It is a computer network in which users can
access a shred pool of computing reswources

through a service pr0v1der

T T U Sl 9Red €, e g s
o wEE (e FﬁEﬂEET) % mem @ Fefen
HHTEHT % T R F 3 W ek €,

None of the statements (a), (b), and (c) given
above is correct description of Virtual Private
Network

IF (a), (b) T (c) FI1 5 T Fig off aaredt
forsft wftgyr o W avia 7 8
ST —(b)
AT — WWW%(VPN)WWW
FOA B g S SR deah § HiNE @™ W
o ST sgee @ gfm w9 § fawia & &
START W T 8

(d)

TITaRuT UE uTRierfoeht

(Environment and Ecosystem)

82. Three of the following criteria have contributed
to the recognition of Western Ghats-Sri Lanka
and Indo-Burma regions as hotspots of
biodiversity :

[ & 9 el % U W ufverdt
o1e- siicient T ISI-90T &5 sl Aararaear &
&R WAl (Eletied) & & § A= W g8 ¢ ¢
1. Species richness / STifdl ST (wieie fam)

2. Vegetation density / ST-&afde T

3. Endemism / ETf=ehdT
4. Ethno- botanical importance
-SEfdeh HEe
5. Threat perception / 3TEehl e
6. Adaption of flora and fauna to warm and humid
condition

FIefy U gofienfy &1 w7 9 37 oRferfad &
i T e
Which three of the above are correct criteria in
this context?

F 8 -7 i e 3w ded § wdt §2
(a)1,2and 6/1,2 3 6
(b)2,4and 6/2,4 3R 6
(c)1,3and5/1,3 3 5
(d)3,4and 6/3,4 3 6
3T —(¢)

TS g, sl qg7 ST are T

T AFH & MR W 9fvad =e- dicis wd ge-ant

g @ o fafduar % SR el (gfewicy) ® w9 §

AT W g% &

83. Human activities in the recent past have caused
the increased concenctration of carbon dioxide in
the atmosphere, but a lot of it does not remain in
the lower atmosphere because of
A o 9ol o uHe [ & SR AHSA
o e gEearEe @ digar § sged g8 ¢,
g ol | aga-Hf argHee & et am o =
T, TR
1. Its escape into the outer stratosphere.

I8 aTE HATIHSA H g H S
2. The photosynthesis by phyto-plankston in the
oceans.

gl § URUEsh RN Y A & |

3. The trapping of sair in the polar ice caps.

a%)@% arg & i
Whlch of the statements given above is/are correct?

-|I/h-0 " Gd ¢/ &7
(a)land2/1 3R 2  (b) 2 only /FHdet 2
(c)2and3/2 X3  (d) 3 only /Fad 3
I — (b)

T — ATAFT, TS F dgd g e,
F TE I HGE TfafafE 6 s g
H P TR SrEEE S s |

84. In the context of ecosystem productivity, marine
upwelling zones are important as they increase
the marine productivity by bringing the
TRAS  ITgehal oh HeH £ TR SaTR

@mafern) &% gafqT wewwnt § wite

Frfeiaa wreaw/mTeamT | T SeewdT Se § -

1. Decomposer microorganisms to the surface.

HIHIH [ Sl g T AR
2. Nutrients to the surface. /ATl ! Hdg T AH|
3. Bottom-dwelling organisms to the surface.
[l T T AR
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Which of the statements given above is/are correct?
- HE-9 HAT W ¥ 22
(@land2/1 3R 2  (b) 2 only /Faa 2
(¢)2and3/2 33  (d) 3 only /&aet 3
ST — (b)
T — TRAT IAEhdl & Hed § 9l IR
(AT & SEfT TEeETt § i 3 9w F e
T T T S T ¥ | R AR & St a1
mmﬂﬂiﬁwmﬁmﬁnﬁwmﬁw
F VS qA UNE dol § URQUl I & A |
TR Y fear S 21

85. If a tropical rain forest is removed, It does not
regenerat qsuickly as compared to a tropic al
deciduous forest.This is because.

e aui-a= @re fear wg, av a9%
SwieRfesefim wufurdt s Wt gem § v
gaffa E & Ut Ut SHi gt § iR
(a) The soil or rain forest is deficient in nutrients.

Fi-a & gar H Uiehl 1 3T BT @
(b) Propagules of the trees in a rain foresthave poor
viability.
v 7 geff % sl # S gd ad @
(c¢) The rain forest species are slow-growing.
avi-a i i i i § wedt 8

(d) Exotic species invade the fertile soil of rain forest

ani-a i et 5T W ATHATT H
et

3T (a)
A IVEREHE g a9 e X S oA a9
307 HieEdE quiord o qer # 9w iR @ e
e, T 9o W@ SR a6 a9 & gaT § U @
S B
86. The Himalyan Range is very rich in species
diversity. Which one among the following is the
most appropriate reason for this phenomenon?
-fafaear & 3fE 9 wq
g ¥ 39 Wyl & forw frefafaa § @ sa-ar
THRUT TAH UG &7
(a) It has a high rainfall that sup
vegetative growth./Tgl 3ifers
Fefy afg & aqEn & 2
It is a confluence of different bio-geographical

zones./J8 fafia Sta-armifes AT

Exotic and invasive species have not been
introduced in this region./gH aar
(d) Tt has less human interference.

el A 1 HH G ¢

ST - (b)
AT — fEAe™ wdd IRdTE SIS I Wihfae Td
Torffaes e S 21 feers @ simifes aRfEf %
FROT & IRAT STHRTET T 9T U § A AfFT
o Gl &1 feure wdd sew Sf fafaear & fy @ e
95 1 T T 98 2 aw ffm e
simferss & 1 S

orts luxuriant

(b)
(©)

87. A layer in the Earth’s atmosphere called Ionosphere
facilitates radio communication. Why?

geeft & U IMIAUSA gl aTefl U
%%a‘r TR Y GHTET ST 21 5012
. The presence of ozone caused the reflection of
radio waves the Earth.

3o & Iufefa e @i @ gt & e
Efdd w2
2. Radio waves have a very long weavelength.
e oot & ain-2ed afy < 2t 21
Which of the statements given above is/are correct?
i -T/-H HeT TEt 2/8?
(a) 1 only /&ad 1
(b) 2 only /Had 2
(c) Both 1 and 2 /1 3 2 &t
(d) Neither 1 nor 2 /4 @1 1 3 7 & 2
ST —(d)
ST — YAl & H 3MIHUSH Hear arel
T A TUR F GEEA I ¢ i sreHed #
forga Safer e &t SRy &t 21

88. A genetically engineered from the brinjal, known
as the Bt-brinjal, has been developed. The

objective of this is
o) ] ARt ¥ STeRt T T8
Terem Bt-oiTr ferenfira &t T2 1 SHaRT Tt
(a) To make it pest-resistant
-§8 oM &
(b) To improve its taste and nutritive %ualities.
ST
(¢) To make it drought-resistant
T TAE-HE T 8
(d) To make its shelf-life longer
s e o s @
ST — (a)
T — T # AR § IR T T2
e @ S e @ E 21 sww @
ARSI T8 ST €1 ST ST A it o
fopfaa S &t ¢ fopem 2

89. With what purpose is the Government of India
promoting the concept of Maga Food Parks?
WA &N e Uk’ @t IR
ﬁm—ﬁr-r Sevet | uﬁ?w%?r @ ??

. To provide good infrastructure facilities for the

food processing industry.
G JHEHT & forw 3T sragE gfgem
U FH 7|

2. To increase the processing of perishable items
and reduce wastage.
TUE g A \T{éﬁ‘ &1 ATH AT H TR
T T M T

3. To provide emerging and eco-friendly food
rocessing technologies to entrepreneurs,
S % fom gen sk REaRR

BN TEEHUT SNl SUass i &gl
Select the correct answer using the codes given
below.

Sude § ¥ ®H-AI/RE-8 AT Tl 3/2?
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(a) 1 only /a1

(b) land 2 only /&ae 1 3R 2

(c) 2 and 3 only /Fdd 2 3R 3

(d)1,2and 3/1,2 3 3

3T (b)
ST — TRgd! d=asia s (2007-12) TE fomr
oftwe g 19 fadar, 2007 # sEfea &t T8 of g
deadia AT o Sfad hE TR g e, 2008 H
“WM B U A IE B TR AT T AN 5 TG
I3vT T ¥ - o T B ATl aqel o R &
TEH T ATET HI FH FH aq| o fFAH H A H

Y € F qeaada @ s FA I FHUA
(1) W (2) && 21 (i) @@ TEROT I
/g STEETET gfaget & WY F ¥ aNR 0@
TeIafEd af e Iuee FHE

90. There is a concern over the increase in harmful
algal blooms in the seawaters of India. What
could be the causative factors for this phenomenon?

WA o A A § FTThTh Jaret TepeT o &
W gfeg W o =e T8 § 39 HatH wUs
ST Heh dcd &l HehdT &/ Tehd &7
1. Discharge of nutrients from the estuaries.
SRS | I &1 JHE
2. Run-off from the land during the monsoon.
YA § 9 ¥ So-are
3. Upwelling in the seas./qﬂﬁ ¥ Io1a8

Select the correct answer from the codes given
below :

frafaiaa §et & YR W |/ I A -
(a) 1 only/aﬂ?f 1
(b) 1and 2 only / eel 1 37 2
(c) 2 and 3 only / et 2 3R 3
(d)1,2and3/1,2 3R 3
ST - (d)
AT 9RA & TS T § GIiAbRe Yo Jepe | &
W afs | W = @ R 21 e W@ ER
§ Ue 1 T9E AHYA § Y ¥ Sa-ae a9
TRl | 3T 3o |
91. Consider the following
W fo=m T:Iﬁﬁl‘l{ :
1. Photosynthesis/¥hTT Gy
2. Respiration /3989
3. Decay of organic matter/Sd TaTEl 1 3TTeTT
4. Volcanic action/v_cl'lFlTﬂ'@ WIEV

Which of the above add carbon dioxide to the
carbon cé/cle on Earth ?

A sA-Ht feramd geeft & s o o
TS SPATFATEE et 87
(a) land 4 only /&ae 1 3R 4
(b) 2 and 3 only/éo_olﬁ 2 33
(c) 2,3 and 4 /&ad 2,3 3 4
(d)1,2,3and4/1,2,3, 3 4
3 (¢)

T — He SESAFES Uh TRH, T4 19 21
TS H FEA SRAGUEES  FETIHATIR  0.03
gfaer ol ST 81 gEeR Sellg foere rltg i 21

Td W Ig -78°C A9 W 3E Faeeq H
yRefdd & S & Rl Ieh T wed &1 Y a6
T WeskeA § R S 21 veA, St9 et &
YT el s FEa WH " e
TESAFIEES Siedl @ SEfh el YWl &t kAl &
ngésﬁmmﬁwaw
|

92. Biodiversity forms the basis for human existence

in the following ways :

Sfar-ferfareran ‘é’q'l%f@'ﬂ HTEH/ATEAH R W=
3TfEea T MR &+ g8 & -

1. Soil formation/gar frafor

2. Prevention of soil erosion/gal 39 & QG

3. Recycling of waste/3Td{T8 & RGHRCEL

4. Pollination of crops/¥¥I YIOT

Select the correct answer using the code given
below :

Trfaiad Sel oh JMUR WX TE I T ¢

(a) 1,2and 3 only / &ad 1,2 3R 3

(b) 2, 3 and 4 only /e 2, 3 3 4

() land4on1y/an_‘ﬁ[13ﬁ14

(d)1,2,3and 4 /1,2,3 3R 4

ST - (d)
e - so9-fafgua ga fmfor, ge et &
HI™, T TV J1 TR & TF: ToH07 5 A9
&I 1 MR & g 21

93. Which one of the following is not a site for in-situ
method of conservation of flora ?

frafefaa o @ S9-T1 Tel awia GIeTr 39

T (in-situ) Tgfer TE &2

(a) Biosphere Reserve

' & (arareher fiod)

(b) Botanical Garden /a€dfis Ia

(¢) National Park/T8Ta i

(d) Wild life Sanctuary/a=I9Tof =R

ST —(b)
ST — FFE S0 &g A I @ IS
% 3iiid TE AT @ s SaHved HARRE &, T
areh, g1 ool st gud wfefer €|

94. In the context of global oil prices, ‘‘Brent crude
oil”’ is frequently referred to in the news. What
does this term imply?

e ot Afvarsh Hwdl o weH | 9 woo ae
(Brent crude oil) <hT FUTERE § YT Sl 2ATan
1 39 UG T =T AR 27

1. It is a major classification of crude oil.

T Fed qT B T I AR
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2. It is sourced from North Sea.
78 I TR G 51 fpar S 7
3. It does not contain sulphur.
TE G- 2 2
Which of the statements given above is/are correct?
HA-FV/RA-T HUT & 8/ €2
(a) 2 only / et 2
(b) 1 and 2 only/ ee 1 37 2
() 1and 3 only/ %al 1 3 3
(d)1,2and3/1,2 3 3
3T —(b)
TE — T I AfTas Al & e § Fe Fed ad
F gUER H 99 Soad@ STl 21 S el dd el

T % @ il § 999 997 81 39 ) R 9§
T fpar ST @1 g9 ofaiid s %S, de Wie, @ne
e, Thitheh TS G wWiHe ¥ T o B

a@ﬁa%ﬁw@aw%wﬁ-ﬁm‘%@
frrerfeor 29 S e

95. Recently,”’olizapper’> was in the news. What is
it?

A | TST FHTER | 2411 98 AT 2

(b) It is a musltilateral energy security cooperation
treaty among the members of the East Asia

Summit./a8 ‘ﬁf Ty Y g & ge=dl &
< Sgwefia e g weam gy ¢

(c) It is a treaty between the Russian Federation and
the European Union for the energy security

cooperation./78 &l ¥H TAT FdF T &
Tl TR WA Ty @

(d) It is a multilateral cooperation treaty among the
BRICS countries for the promotion of trade.

78 “fser@” (BRICS) 911 & s S9R 1 serd
| % fow 5t T aguel e | 8

3T (a)

T - i gEHa F S e iR w9 F 9
31 AR, 1991 & THERT ©E' & ©H W TF T8
wrd d9fY W e 9 ®9 & o9 SRR 9% TS
I gorrl 9 # 8 e, 2010 & T W 9 =il
ey % Ted I 9 W auf H 19 T s @
e ¥ USH-fRE d% Sl B 9 3% o S arelt
TEferdl, fraedl 9 aHasel @ g § o § a1
Feldt & forw faerg &1

(@) It is an eco-friendly technology for the
remediation of oily sludge and oil spills
7® dog U qd faer 2% e il
qiRfefae % et femi ﬁﬁﬁﬁ zl

(b) Tt is the latest technology developed for under

sea oil exploration

T wE AW G wEw dg e
ST S

It is a generically engineered high biofuel
yielding maize variety

B ZoifEd 9 ffdq s== 9 § Ste-
gU Y H aTel AR H R 7

It is the latest technology to control the
accidsentally caused flames oil wells.

T8 T o PNl H IHEH 3qs @uel @l T
U AT ST S @
ST - (a)
T — B § e GAER | o717 dol U
a fo@l g0 ad & IR ¥ RS F SFER
fqfia Senfen 21 so@ fqem T welf we fa=
Fiege’ (TERI) 51T f&a 7 B

faferer/Miscellaneous

96. The new START treaty was in the news. What is
this treaty ?
‘=1 wrE G’ (New START treaty) WHTSIRI &
@ oft1 =g wftr @ €2
(a) It is a bilateral strategic nuclear arms reduction
treaty between the USA and the Russian
Federation./98 HJe T9 SRS T &G T F

(©

(d)

97. Karl Marx explained the process of class struggle
with the help of which one of the following
theories ?

I WG A A HOH ot YiehaT sl e §
¥ T fagr= =t 7ag & sz 27

(a) Empirical liberalism/ mﬂﬁ% EEECIE

(b) Existentialism/ 3Tf&ieamg

(¢) Darwin’s theory of evolution/STfd & fasraa=
(d) Dialectical meterisalism/ggIcHh “fifefehare

I —(d)

AT Hd Ao 4 it 9o & 9fkar # grEs
wiftepere’ & g # qee 9§ qusman we & foEn
3 & Ufoeits R § W 999 & SMYR aMdr
HEARSI GHIST &1 THR Feha YSil qd1 HHdaral qrs
1 MR 9f 71 Ad W 1 sfe @ Afward
= 21 3w R & % wuw & e e
ol § freia & @ foress qa & af dod @1 5%
I 21

98. With reference to Look East Policy of India,
consider the following statements :

ORa & Cgd @t AR TEr’ Afq & ded #

frefaiad et o foem S «

1. India wants to establish itself as an important
regional player in the East Asian Affairs

I T TS W S T # R g qi gl TR F wE e seeql & e
T A Yy 3 % &9 H T HTAT = 21
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2. India Wants to plug the vacuum created by the
termination of cold War./9%d 3 g5 HAT REk]
S I H AT A 2

3. India wants to restore the historical and cultural

ties with its neighbours in Southeast and East
Asia.

9T o1 fRrTgdf qer g ufe weifr & Wy
TR Td W Ge T TR ST R 3
Which of the statements given above is/are correct?
S § A WA-TE-R wo w0
(a) 1 only /Fae 1
(b) 1 and 3 only/Fa 1 3R 3
()3 only/ao_clﬂ 3
(d)1,2and3/1,2 313
I — (b)

HAEAT-T@ H Wh @ A & daid ara 1 g
TR & I % Wy o7 fyueft defy S weEd s
gl oad F ENE @ I F U Swwdg aWl, fER
fafmar amfe & Areom @ deei & ggE S TN EW
&9 & o 39 % UPUaA # R A Seaw i gl
Haiferar & UgUfa q@r FIRAT AT & TPAA A HAM:
faawr, 2009 o1 Sad, 2010 § 9RA & A= H | AR
# qd & IR @ AT F sfata ara g R e
T @Y UF AeaqU &9 AE & &9 T B
A 1 ARG I -G q g R S
& o1 Uil Geiel A e s e 21

99. India maintained its early cultural contacts and
trade links with southeast Asia across the Bay of
Bengal. For this pre-eminence of early maritime
history of Bay of Bengal, which of the following
could be the most convincing explanation
/explanations?

aRA o SRAuget TiTer & Wy e sRfWw
Hitghicreh HWUeh TUT STk HaET STeT eht WISl
& IR o1 W@ o Frefafas § @ we-w s
@ @IS & 39 ST AN(TH WA FleagrE
R favae-ita e/t o Gt §/87?

(a) As compared to other countries, India had a

better ship-building technology in ancient and
medieval times

T FA q9 e FHA H ARG b qTH qHA B
qor § 31f 37| dra-fmfor deien Sueey o
(b) The rulers of southern India always patronized

traders,Brahmin priests and Buddhist monks in
this context.

39 32V & foru afyor et sHeRt 3 ST,
ST gefAt 37 st feged 1w wee fam

(c) Monsoon winds across the Bay of Bengals
Facilitated sea voyages

S W e A e ¥ T
e H G & o

(d) Both (a) and (b) are convincing explanations in
this context
59 Hae  (a) 791 (b) A faveea = @

37T —(¢)

AT — I A SfRUT-df TR & g S AR
TiEpfod T 991 MRS Tag S0e & @El & IR~
T o W &1 THH T[E HROT A P @l H e
ATl WY gAet o BRI WAl AENS s grear off |

100.With reference to the period of colonial rule in
India,”” Home Charges’ formed an important

part of drain of wealth from India. Which of the
following funds constituted Home Charges?

O ® Iufavht Imes e ¥ Cfm aste’ | aRa

W Hufe gre o1 Heequt 3 o) fmfefad § 9

wE-dt fAfrfie CEm-as W duesw

eft/eff?

1. Funds used to support the India Office in London
de | gfear onfeg & wor-umer & forw s
o S et

2. Funds used to pay salaries and pensions of British
personnel engaged in India

IR § FERA 31 FHAREA & da9 a1 Gve <
¥ YA # A8 S At A

3. Funds used for waging wars outside India by the
British
AT % A g Il B ASH 7 IS g A d
@ S et fAfer

Select the correct answer using the codes given
below :

frrfefian wet o MUR W |/ IR I+
(a) 1 only/ Fael 1

(b) 1 and 2 only / ael 1 3R 2

(c) 2 and 3 only/ e 2 3 3
(d)1,2and3/1,2 3 3

I — (b)

RS — 9IRGB SuMae e § g =t
I H TR e P Heequl 3 o et aRa
¥ g =els (T8 o) ¥ e gretve fSr T gfe
TR 9N &t 3R § fhar 99 arel =49 o1l 399 oied §
Zfean 3fifthd o Ho-gmoT % foe w@ § @ S At
faftr, WA # e sk HH=RE & gaq q9r 4ve 34

&9 s & o S Al e sty S o)
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3TE. W, T, Wiferew, udiam, 2012
HHTET eI A

T W9-U T &

(STEATIER fIgewuT Wi samE)

YT gfe@r@/Ancient History
Dﬁﬁ%‘lﬁlﬁ <l (Prehistoric Period)

1. With reference to the scientific progress of ancient

India, which of the statements given below are
correct? R o %Eﬂﬁﬁi Wt R
waet § Freafefiad § & S19-8 weT wd 82

1. Different kinds of spec1allzed surgical instruments
were in common use by 1% century AD.
EREG TR & fAfere e SRl

T ITAT W AT

2.Transplant of Internal organs in the human body
had begun by the beginning of 3 century AD.
dad Sl $He & oW FIFF:[ W
3711 BT FARIUT Y T
3.The concept of sine of and angle was known in 5"
century AD.
It S # 0T & S s 9 e

4. The concept of cyclic quadrilaterals was known in
7™ century AD.
Tt I gt § T a@ﬁa 1 g I o
Select the correct answer using the codes glven
below SR W el ST

(a) 1 and 2 only / e 1 3 2

(b) 3 and 4 only/ e 3 3R 4

(¢) 1,3 and 4 only/ %aet 1,3 3 4

(d)1,2,3and 4/ 1,2,3 3iR 4

S - (¢)
T - A & § 97 § "eaqul Wi gg o
fofie il 9T =l @ 6 gom varsd duet a% I
fSpam & @®m  ar fAfe YHR & SUH H qAT
B T o1 foheq 59 e A 39k @18 el vraredr got
aasaqnmﬁwn w9 a8 HWeHl °11 A | A
F &7 H 5af vt dudt 9% 9Ra ® P § s
(Sine), Hiear (Cosine) T I = (Inverse sine) %

g 31 55T ST g% 91 370 Seorg ‘g fagr @ik

‘SR # fre 81 adt v Sued # sew gw
= =g 1 g S e S g e

aﬁiﬁ AT (Vedic Civilization)

2. The religion of early Vedic Aryans was primarily of
<hl s ar

(a) Bhakti / 9faa
(b) image worship and Yajnas/qf sl T a7

AT — @ A A B gH TE: TH O SR
IF o1 T § g % a9 fe 81 et &
TYM &l vifeat & gfarfer & e qedinto
foar T 2 3T & IUTEAT A g S S i a9
¥ gy, o, +ff, A9 du @ N owgfaa & S oA
a‘:ﬂaﬁfﬁ%ﬂm&m@r&a%

sg, S9, ¥R Te Yig of  (Buddhism,
Jainism, Bhagwatism and Shaivism)

3. Lord Buddha’s image is sometimes shown with
the hand gesture called ‘Bhumisparsha Mudra’ It

symbohzes
WIS Teg, uﬁn‘rwﬁmﬁwmg&qw
ﬁ@l‘s‘ﬂé% ‘syftrest g’ e ST €1 98

(a) Buddha s calhng of the Earth to watch over
Mara and to prevent Mara from disturbing his

meditation
IR W 3F W T8 09 & H =1 s/oM ¥ 9R
& U & 0 5 1 axdt 7 M@=

(b) Buddha’s calling of the Earth to witness his

purity and chastity despite the temptation of

Mara.
TR % eIl & STaeg 7O YT SR IS
Trft 8 & T g5 P R H STEE

(c) Buddha’s reminder to his followers that they all
arise from the Earth and finally dissolve into the
Earth, and thus this life is transitory
I3 F F TROT BT 9 T
Tt IO B9 § I ST eRdr # facie @

(d) Both the statements (a) and (b) are correct in this

context./g9 # I & F (a) T (b) T &
3T - (b)
=T H@W%ﬁﬁﬁg@ﬁﬂﬁﬂ%ﬂaﬁqgm
9 5T, S YR 3R - a7fe qfear 1 fmfor
fofar mr o g5 W ¢ gm’qﬂ(aﬁrqéa)%
YA % STaeR 31Ol e 3 e B el 8 &
Wg@m%ﬁﬁﬂ@ﬂq@aﬁ%

4. With reference to the history of ancient India,
which of the following was/were common to both
Buddhism and Jainism? &

Td ®, frefafga & @ sA-9rA sieg o 207
I o A W A w0 9 e avar?

(¢) worship of parture and Yajnas 1. A\{Oidance of extremities of penance and
Y g 3 Ty enjoyment/dq 3 &
(d) worship of pature and Bhakti 2. Indifference to the authority of the Vedas
S3ft T 3t ~JMAI0S o S ST
I (0) 3. Denial of efficacy of rituals
1 heferl
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Select the correct answer using the codes given
below :

frfafaa el o MU’ W ¥E I T

(a) 1 only/ Faa 1

(b) 2 and 3 only /Fae 2 3 3

(c) 1and3only/w 1 33

(d)1,2and 3/1,2 3 3

S — (b)
ST — a9 3N G &t fd & afer wd meay A
F S Fad atg od H e g1 S&fe & @
STHITSAT & S STATE, SHHGIS] B HoamT H 5y Td
STt % T @ A AE T FEREN dtg S
S aFl el § \HE 9 ¥ urE Sl 81

et gfaerd/Medieval History
ErUEIRCREE PRI
(Bahmani and Vijaynagar Empire)
5. The Nagara, the Dravida and the Vesara are the
AR, 3T e &
(a) three main group
subcontinent
T ITRTEIT o O T ST T8

(b) three main linguistic division into which the
languages of India can be classified

= 9w o, 9 R &t amett @t fave
EEUEI:ETIN
(c) three main styles of Indian temple architecture
A AR & A e f
(d) three main musical Gharanas prevalent in India
IRA | yaferd &9 g7 S
ST —(¢)
AT — AR, 3fFe 3 S IR 6 arg # A=
T vt €1 fores gt § womge won % e § fH
W%mﬁmmﬁwémwwm#ﬁ?
fomfor &t &9 vifeel 1 o gam — 1. AR wied, 2.
g deft, 3. S died Tt A e e
W @ T g @ &1 AR Vel SW 9Rd i vl o
froen e feurem @ fmr wda @ Rt gedr R
sforg el 1 T FO0 AL F FAGAL 7w 2
fome qem oo 9 & o a9 el sl ot

erfiien 3117@?:[ (Religious Movement)

6. With reference to the religious history of
medieval India, the Sufi mystics were known to
pursue which of the following practices ?
T AR el o gt

T Tt ¥ o fora e & amrm = frate

A o7

1. Meditation and control of breath

SF-HTEAT 3R varg-fam
2. Severe ascetic exercises in a lonely place
THid § HIR =)

3. Recitation of holy songs to arouse a state of

ecstasy in thelr audience

e BN=E 3cd H & forw ufe

racial of the Indian

il
7

Tﬂ?‘ﬁ?ﬂ"TP:IT-T

Select the correct answer using the codes given
below :

frefaiad Set o MR W T ST YT -

(a) 1 and 2 only / %aet 1 3R 2

(b) 2 and 3 only / Fadt 2 3 3

(¢) 3 only/Had 3

(d)1,2and3/1,2 3R 3

ST - (d)
ST — 3= | g o o Rt o # g A
EEAE e (Mystic Movement) @l HWhetal adr
BB #1 Heequl R feere sfem 21 gieR

mﬁmwwﬁmw sqarsfﬁmwaw%

!

T o W giR A 39 T § 987 §® Je0 e for
e wrEei, AME ST 1 IE qT 3 W TE-
G ST THAT 21 FemEdE 7 A S aee gsfy 6
T A9 § SR fHal

ek 3fcer™@/Modern History

I WU T foeled e It St &t
T (Decline of Mughal Empire and
beginning of European Trading Company)

7. With reference of Ryotwari Settlement, consider
the following statements :
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1. The rent was paid directly by the peasants to the
Government.
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2. The Government %z%/e Pattas to the Ryots.
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3. The lands were surveyed and assessed before
being taxed.
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Which of the statements given above is/are correct?
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